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Question Number : 1 Question Id : 92775911539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the notification of the Reserve Bank of India, what is the new deadline for exporters to realise their export proceeds for exports made up
to 31 July 2020?

Options :

1. * 12 months from the date of export
2. % 15 months from the date of export
3. * 18 months from the date of export

4. * 24 months from the date of export

Question Number : 1 Question Id : 92775911539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR RoId o &1 SHFRTEHT & SR, 31 JaTs 2020 I fhd T fafa & o Frafde! o st fafd oma &1 o axa & fag 78 9w3a
Hrar g fRuffa ot g2

Options :

1. % fid ot fafy J 12 718
2. ¢ Fafa sty @ 15 A8
3. % ol e Al T 18918
4. % ol e ol @ 24 1rE

Question Number : 2 Question Id : 92775911540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following banks was NOT merged with the State Bank of India?
Options :

1. % State Bank of Mysore

2. % Andhra Bank

3. % State Bank of Travancore

4. % State Bank of Hyderabad

Question Number : 2 Question Id : 92775911540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 3 ford b 1 R Ke o H faeg e e U
Options :

1. % T dF HTh TR

2. ¥ 3MY AP

3. % WT dP 3 AGUDHR

4. % RT §F ATt gexraTe

Question Number : 3 Question Id : 92775911541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The has approved a loan of around X 2616 cr to the Indian government to provide reliable power connection in rural areas of
Maharashtra, in April 2020.
Options :

1. ¥ Asian Development Bank

2. # Asian Infrastructure Investment Bank
3. # Reserve Bank of India

4. * World Bank

Question Number : 3 Question Id : 92775911541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ 30 2020 H, HERTY & AHITN &A1 H fay=tg forsTefl e UaH H & oY HRd TBR & T T+ 2 2616 HAS & B
B A 7
Options :
1. ¥ TRETS fob™ d&
2. % URATS GUTH (Haw db
3. % YRd ord o
4. % gy d&

Question Number : 4 Question Id : 92775911542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first player of independent India to win an individual medal in the Olympics?
Options :

1. % Abhinav Bindra

2. # Leander Paes

3. % Sushil Kumar

4. ¥ KD Jadhav

Question Number : 4 Question Id : 92775911542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 | AfdaTd Ueeh Siid- dTal Tda HRd & Ugd faars! ol 92
Options :

1. % 3ffiFa fag

2. % foeR g

3. % YR $UR

4. ¥ Bl SYg

Question Number : 5 Question Id : 92775911543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cities is known for its sand covered temples?
Options :

1. % Madurai

2. % Talakad

3. ® Puri

4. % Abu

Question Number : 5 Question Id : 92775911543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad 7 3 1 3 26R I ITd ¥d 4 T HieR! & g S S 82

Options :

Question Number : 6 Question Id : 92775911544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In 1978, the 44th amendment to the Constitution removed the right to property from the list under
Options :

1. % Article 342 A

2. % Article 300 A

3. % Article 246 A

4. % Article 279 A

Question Number : 6 Question Id : 92775911544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1978 H, HiAYT o 443 YR U P SUBR DI & dod gt A ger faam
Options :

1. % 3G 342 A

2. ¥ 3G 300 A

3. % 3T 246 A

4. % TG 279 A

Question Number : 7 Question Id : 92775911545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following notifies the dates and schedules of elections in India?
Options :

1. # Municipal Commissioner

2. ¥ Election Commission

3. # Lok Sabha

4. # Chief Justice of the Supreme Court

Question Number : 7 Question Id : 92775911545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed & ¥ o YRd & g9 @ fafat 3iR Srieat &) ga-T ueH a1 82

Options :



1. % TR A g

2. ¢ gHId 3N

3. % LU

4. % [di AATAT & YT AT

Question Number : 8 Question Id : 92775911546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subjects come under the purview of the Concurrent List given in the Constitution of India?
Options :

1. ¥ Newspapers, books and printing presses

2. #® Gas and gas-works

3. # Inter-State migration; inter-State quarantine

4. ® Census

Question Number : 8 Question Id : 92775911546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & 9 favg yRdh dfaum § § 72 gradi It & R # o g?
Options :

1. ¥ JHER U7, T&e 3R fUifdn o

2. % T R 19-aieh prd

3. % AU YN, SR RersH

4. ® SIUMET

Question Number : 9 Question Id : 92775911547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a water-borne disease?
Options :

1. ¥ Alzheimer's



2. # Hepatitis A
3. % Typhoid

4. % Amoebiasis

Question Number : 9 Question Id : 92775911547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & & S 91 Sesi-d I g 82
Options :

1. ¢ eI

2. % gUCTSieH A

3. ® <GS

4. % SHSATRY

Question Number : 10 Question Id : 92775911548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhaleri is a folk song that is sung to cheer farmers in the state of:
Options :

1. # Andhra Pradesh

2. % Uttar Pradesh

3. % Maharashtra

4. ¥ Tamil Nadu

Question Number : 10 Question Id : 92775911548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Bhaleri) ford 30 § Tl o T0I0MH & foTQ 711 ST a1l e 7iid /2
Options :

1. % 3ffg JamT

2. % JW UK



3. ¥ HERIY
4. % qiHeHTg

Question Number : 11 Question Id : 92775911549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kuchipudi dance form originated in the state of:
Options :

1. ¥ Andhra Pradesh

2. # Telangana

3. % Tamil Nadu

4. % Qdisha

Question Number : 11 Question Id : 92775911549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PraYS! T BT @ fhe Ioa 1 g5 o
Options :

1. ¥ Y TR

2. % dEHTH

3. % qiAeg

4. % 3nfeEm

Question Number : 12 Question Id : 92775911550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Population Census 2011, what was the literacy rate in the state of Gujarat?
Options :

1. ¥ 79.31%

2. % 75.48%

3. % 87.23%



4. % 82.76%

Question Number : 12 Question Id : 92775911550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P TAUMAT & AR, ORI Iod H ATeRadl & 1 4
Options :

1. ¥ 79.31%

2. % 75.48%

3. % 87.23%

4. % 82.76%

Question Number : 13 Question Id : 92775911551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Statistical Survey of India was organised under the leadership of
Options :

1. ¥ Lord Mayo

2. # Lord Elgin

3. % Lord Lytton

4. # Lord Canning

Question Number : 13 Question Id : 92775911551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR FIRD! TG0 & -igad H frford fopan T ol
Options :

1. ¢ IS Tl

2. % dls U™

3. % die faed

4. % QIS BT



Question Number : 14 Question Id : 92775911552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the energy possessed by an object of mass 20 kg when it is at a height of 800 cm above the ground?

Take ‘g’ =10 m 52
Options :

1. #® 160000 J

2. % 1601
3.¥1600J

4. % 161

Question Number : 14 Question Id : 92775911552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 kg B U g o1d YA F 800 cm 1 TS W Bl I9 SHH Mg SHoll [ba-! gidll 82

m%, ‘=10m 2
Options :

1. * 160000 J

2. % 1601J

3.4 16001J

4. % 16J

Question Number : 15 Question Id : 92775911553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gases is filled in bags of chips to prevent the chips from getting oxidised?
Options :

1. ¥ Nitrogen



2. % Oxygen
3. % Hydrogen
4. ¥ Hydrogen sulphide

Question Number : 15 Question Id : 92775911553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fored @1 SiiRitexor ¥ S & forg afaRad & 9 $1F-30 719 &1 ey & o1 3 WR7 91l 82
Options :

1. ¢ A1SCIoHA

2. % o

3. % grggloH

4. % QLS YehIgS

Question Number : 16 Question Id : 92775911554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following districts is the highest literate district of India as per Census of India 2011?
Options :

1. ¥ Serchhip

2. % Kottayam

3. ®¥ Mahe

4. % Aizawl

Question Number : 16 Question Id : 92775911554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA DI STTOMT 2011 & TR, HRA BT FHEfaRad & I S 91 fora, Faifie JreRdr aran forem g2

Options :

1. ¢ WM&y
2. ¥ HIEY




3. % O
4. % 3T

Question Number : 17 Question Id : 92775911555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which festival is celebrated for three days during the mid of June in the state of Odisha?
Options :

1. ¥ Raja Parba

2. % Chhau Festival

3. % Magha Saptmi

4. % Mahabisuva Sankranti

Question Number : 17 Question Id : 92775911555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NS T | S P Ted b SRA o1 feT dob B |1 I AT ST 82
Options :

1. % ST URdT

2. % BIS ARl

3. % HTY guH!

4. % HgTfeygan Hspifd

Question Number : 18 Question Id : 92775911556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who built IbadatKhana (House of Worship) at FatehpurSikri in 1575 CE?
Options :

1. ¥ Akbar

2. # Shah Jahan

3. # Aurangzeb



4. % Babur

Question Number : 18 Question Id : 92775911556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1575 31 H HAgRETH H SATGAM (YSITeR) HT HHT0 fham dHrarm U1
Options :

1. ¢ 3hdX

2. % 1 S

3. % 3R

4, % dldR

Question Number : 19 Question Id : 92775911557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever no-confidence motion against the Central Government was moved in which of the following year?
Options :

1. % 1967

2. % 1975

3. % 1962

4. % 1963

Question Number : 19 Question Id : 92775911557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A O fg o, Fg WHR & fAATs ugan Ay Uzara < 1ar 412
Options :

1. % 1967

2. % 1975

3. % 1962

4.9 1963




Question Number : 20 Question Id : 92775911558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players are there in water at one time in Water Polo game?
Options :

1. %9

2.7

3.% 11

4. % 8

Question Number : 20 Question Id : 92775911558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

grex el & B § fopedt i fow 0 gwg o fram faarst urt & 81 9od 82

Options :
1. %9
2.9 7
3. % 11
4. % 8

General Ability
Group Number : 2
Group Id : 927759476
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Ability

Section Id : 927759502
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759597
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775911559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs and which two numbers need to be interchanged to make the following equation correct?

2x1+3=7
Options :

1.¥ +and x, 1 and 2
2. % +and X, 1 and 3
3. % +and x, 2 and 3
4. % +and x, 3 and 7

Question Number : 21 Question Id : 92775911559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad THiezo & T8t §9H & o H1F A &) Uit 3R oo 3 Teamait ) Ueh-gaR J ufaifid &A1 sawusd g2

2x1+3=7




Options :

1. + 3R x, 1 3R 2
2. % £ 3R x, 13R3
3. % + 3R x,2 3R 3
4. % + 3R x,3 3R 7

Question Number : 22 Question Id : 92775911560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number that can replace the question mark (?) in the following series.

270, 285, 315, 360, 420, *?’
Options :
1. % 560
2. % 495
3. % 480
4. % 580

Question Number : 22 Question Id : 92775911560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AT 1 TG D SN HafaiRad gaer o uy =g (2) &1 ufawiifug st

270, 285, 315, 360, 420, *?’
Options :
1. % 560
2.9 495
3. % 480
4. % 580

Question Number : 23 Question Id : 92775911561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the number that can replace the question mark (?) in the following series.

4,7,10,5,12,7?
Options :
1.*9

2.% 5

3.3

4. % 15

Question Number : 23 Question Id : 92775911561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AT BT 79 B SN HafaRdd gae & uy g (2) &) gfawiifuag st

4,7,10,5,12,?
Options :

1. %9

2.%5

3.3

4. % 15

Question Number : 24 Question Id : 92775911562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct alternative to indicate the arrangement of the following sentences in a logical and meaningful order.

1. The grandmother appeared pale and weak.
2. They bought some medicines

3. She met her grandmother in the market

4. They went to visit a Doctor.

5. She went to the market near her house.

Options :
1. % 1,2,5,3,4



2.%2,4,1,5,3
3. % 3,1,4,5,2
4.453,1,4,2

Question Number : 24 Question Id : 92775911562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 et [dhed o1 I8 &Y, o 1 feu 17U a1t & d1fdbes 3R A1l v &Y eidr g |

1. a1 BT TR HaT 3R HHWIR faErs ue|
2.d'$S gazyi Al|

3. 98 (U aal 9 doIR | |

4.9 Zlgex & I U

5. 98 U4 W & e fYd IR 718 |
Options :

1. % 1,2,53,4

2.%2.41,5,3

3.% 3 1,4,5,2

4.5 3.1,4,2

Question Number : 25 Question Id : 92775911563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number which when added to itself 15 times, gives 144. The number is:
Options :

1. #® 12

2. % 16

3.% 8

4. 99

Question Number : 25 Question Id : 92775911563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP ST 1 3P 15 AT H S8 TR 144 YT il ¢ | I8 T 6
Options :

1. % 12

2. % 16

3.% 8

4. 99

Question Number : 26 Question Id : 92775911564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we interchange + and +, then which of the following equations will be correct?
Options :

. % 56+7%x2+3=17

2.% 63+7%x3+7=35

3.% 63+9x3+7=29

4. ¥ 56+7%x2+3=19

Question Number : 26 Question Id : 92775911564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe §H + 3R = Bt MUY H Srgal-gga o3, d Ffoied § ¥ S1H-91 g I8t grm
Options :

1. % 56+7x2+3=17

2.% 63+7%x3+7=35

3.% 63+9x3+7=29

4. 9% 56+7x2+3=19

Question Number : 27 Question Id : 92775911565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If we interchange + and +, then which of the following equations will be INCORRECT?



Options :

1. % 117+13x2+3=21
2. % 144+16x4+4=40
3.%91+7x4+1=53
4. ¥ 96+ 12 x4+3=34

Question Number : 27 Question Id : 92775911565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe gH + 3R + o1 g 3o & sicar-agall &y, af ufafad # ¥ oH-a1 gHfieo Tad g
Options :

1. % 117+13x2+3=21

2. % 144+16 x4 +4=40

3. %91 +7x4+1=53

4.9 96+ 12 x4+3=34

Question Number : 28 Question Id : 92775911566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can replace the question mark (?) in the following series.

45,44,41,7,29, 20
Options :

1. % 40

2.9 36

3. % 38

4. % 39

Question Number : 28 Question Id : 92775911566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fadhed &1 97 B ol fRgfeiRad e 4 uy g (2) &1 ufaiftd |




45,44,41,7,29,20
Options :

1. ® 40

2.9 36

3. % 38

4. % 39

Question Number : 29 Question Id : 92775911567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(2,4,16)
Options :

1. ¥ (4,16, 32)
2. % (5,25,125)
3.9 (3,9, 81)
4. % (6,36, 72)

Question Number : 29 Question Id : 92775911567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T BT I Hx, fored & 778 Tensit & Aeg a8t dad €, off fau U 9= & &) TS Sensii & A g
(2,4, 16)

Options :

1. % (4, 16,32)

2. % (5,25, 125)

3.9 (3,9, 81)

4. % (6,36,72)

Question Number : 30 Question Id : 92775911568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which two numbers should be interchanged to make the given equation correct?

3+2x4=10
Options :

1. ¥ 3 and 4
2. % 4and 10
3. % 2and 10
4. % 3and 10

Question Number : 30 Question Id : 92775911568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T FHth 0T o1 Tferd HR & fore b= TRaaredi o 3oy § Sea-1 g

3+2x4=10
Options :

1. ¢ 3 3R 4
2. % 43R 10
3. % 23R 10
4. %33R 10

Question Number : 31 Question Id : 92775911569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(6,12, 18)
Options :
1. % (4,12, 3)
2.9 (8,16, 24)
3. % (2,4, 16)
4. % (5,10,20)



Question Number : 31 Question Id : 92775911569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T BT 9 Hx, forad < 178 Tensit & aeg a8t dad €, off fau U 9= & &1 TS Sensii & A g
(6,12, 18)

Options :

1. % (4,12,3)

2. ¥ (8, 16, 24)

3. % (2,4,16)

4. % (5,10, 20)

Question Number : 32 Question Id : 92775911570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number which is related to third number in the same way as the second number is related to the first number.

35:835::75:7
Options :
1. % 625
2. ¥ 875
3. % 1225
4. % 1875

Question Number : 32 Question Id : 92775911570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 o ed o7 70 3 o RN ST ¥ 31 3T UhR O aiferd g, o TR ¥ gurt Te, ugat Te 4 Iefd 3|
35:835::75:7

Options :

1. % 625

2. 875

3. % 1225




4. %= 1875

Question Number : 33 Question Id : 92775911571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four sets of number triads are given out of which three sets are similar in some manner and follow the same logic except one number triad.
Choose the number triad which is different from the rest three

Options :

1. # (7,11, 19)
2. % (5,17,23)
3.9 (2,4, 13)
4. % (3,29,31)

Question Number : 33 Question Id : 92775911571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I1 3 & IR I= U U B, f5H O 9 Sy oo ot 7 fhedl UeR @ 0 § SR Uw €1 b &1 UTe &xd o, Sidid T
G e 3T AT B | 30 T 3@ Te A &1 99 i |

Options :

1. % (7,11, 19)

2. % (5,17, 23)

3.v (2,4, 13)

4. % (3,29, 31)

Question Number : 34 Question Id : 92775911572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of boys and girls in a class are in the ratio 5:7. The number of girls is 8 more than the number of boys. What is the total class
strength?

Options :
1. = 22
2. % 48



3. % 61
4. % 96

Question Number : 34 Question Id : 92775911572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BT T ASH! 3R ASHA! ! G- HH: 5 : 7 P AT H 8| TSfhal ol TS, ASH! o1 UG- U 8 YD § | 0T B< b FHefl bl
& &l fhd-l 82

Options :

1. % 22

2. ¥ 48

3. % 6l

4. % 96

Question Number : 35 Question Id : 92775911573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Merry think of a number and subtract 5/2 from it. She multiply the result by 10. The result now obtained is 5 times the same number she thought
of. What is the number.

Options :
1. ® 25
2. % 15
3.% 4
4. ¥ 5

Question Number : 35 Question Id : 92775911573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U S & IR H Wl § SR SUH ¥ 5/2 UeT <l 81 98 URUTH ®I 10 9 01 Hcll § | 316 Ut GRumH I Wed &1 5 7T § foreies
IR H I I YT T 182

Options :

1. % 25



2. %15
3. % 4
4.5

Question Number : 36 Question Id : 92775911574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are elephants and Ostrich in a zoo. Some one count their heads as 100 and number of legs as 240. How many Ostrich are there in the zoo.
Options :

1. ¥ 80

2. % 60

3. % 40

4. % 20

Question Number : 36 Question Id : 92775911574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁr%mmﬁwﬁ 3R IR & | e e IR R 1 H=T 100 3R TRY BT TAT 240 U T3 | 0T B3 o Fafsamer § fora Rt

Options :
1. ¥ 80
2. % 60
3. % 40
4. % 20

Question Number : 37 Question Id : 92775911575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words in a meaningful sequence and choose the correct order.

1. micro
2. pico



3. giga
4. mega

Options :

1. % 1,2,4,3
2.92.1,4,3
3.%1,2,3,4
4. % 3,1,2,4

Question Number : 37 Question Id : 92775911575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeifad wegl &) U A1l v A TafUd FHIfoTT 3R T8t b H &1 I DI
l.qlgaﬁ(micro)

Z.ﬁﬁ(pico)
3. 1T (giga)
4.f|T|T(mega)
Options :

1.%1,2,4,3
2.92.1,4,3
3.%1,2,3,4
4. % 3,1,2,4

Question Number : 38 Question Id : 92775911576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given pie chart shows the distribution of sales of 5 mobile companies by a mobile store.

Mobile Sales

What is the central angle made by the sales of Apple mobiles in the Pie chart?
Options :

1.« 54°
) ® 64°

3 % 60"

4. ® 559

Question Number : 38 Question Id : 92775911576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a1 T U, 91¢ [yl AIeEd R GRI 5 AiA5d Sl & [dsh! faaRul &l g=Iidl g

U 91 | 618 Td AlESd &f [ah! J 891 Ha g HIu JTd o

Options :
1. % 54°

2. % 64 °
3. % 60 °

4. % 55°

Question Number : 39 Question Id : 92775911577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given pie chart shows the distribution of sales of 5 mobile companies by a mobile store.

Mobile Sales

|_l: -;ﬁ'

If total 5000 mobiles were sold by the store then what is the ratio of the sales of mobiles of Apple and Realme?
Options :
1.« 3:5

Question Number : 39 Question Id : 92775911577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a1 T U, 91¢ [yl AIeEd R GRI 5 Aid5d Sl & [dsh! faaRul & g=Iidl g

Arargar fashr

e R GRI$A 5000 AIESE S 741, 11 51k T0d AR site Raedl & Airgel & a1 3Furd J1d &1

Options :
1.« 3:5

> % 5:3
3 % 3:4

4. % 4:3

Question Number : 40 Question Id : 92775911578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given pie chart shows the distribution of sales of 5 mobile companies by a mobile store.

Mobile Sales

Which of the presented items are displaved in the ratio of 2 : 3?
Options :
| % Apple and Samsung

, % LG and Samsung

3 % HONOR and Realme

4« HONOR and LG

Question Number : 40 Question Id : 92775911578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a1 T U, 91¢ [yl AIeEd R GRI 5 AiA5d Sl & [dsh! faaRul &l g=Iidl g

S PO fdeed 2 : 3 & U d s¥far m g?
. % IOl SR HHT
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Arithmetic Ability



Group Number : 3

Group Id : 927759477
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 927759503
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759598
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775911579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
22977 is NOT divisible by .
Options :



Question Number : 41 Question Id : 92775911579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22077 FEfRad # 9§ foby Team 9 faHrsy =8l 82
Options :

1% 3

Question Number : 42 Question Id : 92775911580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number of three digits which is exactly divisible by 40, 48 and 60.
Options :

| % 240

5 & 960

3 % 999



4 % 940

Question Number : 42 Question Id : 92775911580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T il B 98 TS| Y To! T JTd BT Sl 40, 48 TAUT 60 Y YUid: fauTierd 81|
Options :
| % 240

5 & 960
3 % 999

4 % 940

Question Number : 43 Question Id : 92775911581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
235936 is divisible by
Options :

1. % 5



Question Number : 43 Question Id : 92775911581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

235936 MGAIRIT H ¥ foad fgHTioNd g»

Options :

1. ® 5
2.¢ 8
3% 9

4 % 11

Question Number : 44 Question Id : 92775911582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of *?° in the following equation.

40-[5+30f(25-2%10)]=7
Options :
1 % 40

Question Number : 44 Question Id : 92775911582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

40 - [5+ 3 of (25 - 2 x 10)] BT HM F1d |
Options :
1 % 40

> % 30
3.¢ 20
4 % 24

Question Number : 45 Question Id : 92775911583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can complete a piece of work in 6 days. If A alone can complete the same work in 15 days, in how
many days can B alone complete the work?

Options :
| = 8days
, % 9days

3 « 10days

4 w 12days

Question Number : 45 Question Id : 92775911583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A 3R B UH B B 6 [l H TAT B2 Gobd & | TG A 2Bl 541 BIH B 15 7 H JH IR IHhdl 8, A1 B
3BT U B B! fha ! § THIG B TDhdl g2

Options :

| % sfed
, % ofc
s o« lofed
4w 12734

Question Number : 46 Question Id
Orientation : Vertical

: 92775911584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

If +/33.64 = 5.8 then what is the value of {.003364 ~ 0.817?

Options :

1. ® 522

Question Number : 46 Question Id
Orientation : Vertical

: 92775911584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Correct Marks : 1 Wrong Marks : 0.25

gfe 33.60 =5.8 2.4 v 003364x0.81 & T 1d B

Options :

| % 522

Question Number : 47 Question Id : 92775911585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on a certain sum borrowed for 2 years at 8% per annum is Z 4,160. What is the sum borrowed?
Options :

| % 40,000

5 » 25,000
3 % 20,000

4 % T 15000

Question Number : 47 Question Id : 92775911585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



It 8% P G U 2 TN b [T FYR Tl 15 febdl ST MR R UTtd Tehgfeg ST 2 4,160 © | SYR T 15 AR 371
o |

Options :

| % 40,000

5« 25,000
3 % £20,000

4 % T 15000

Question Number : 48 Question Id : 92775911586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a number 95780, if the digits 5 and 8 interchange their places, the difference between the original and the new
number is:

Options :

| % 2079

7 #® 2097
3 ® 2790
4.« 2970

Question Number : 48 Question Id : 92775911586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT 95780 H, TS 3ieh 5 3R 8 & VI bl TER Fae &1 ST 8. Tl Hel 3R 75 -1 & g ek 1 g
Options :
| % 2079

> #® 2097
3 ® 2790

4 & 2970

Question Number : 49 Question Id : 92775911587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One - fourth of a sum of money is greater by 25 than one - fifth of that money. Then three- fourth of the money is:
Options :

1. % 350

Question Number : 49 Question Id : 92775911587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U YRITY BT Ueh-TIUT HRT 39 Y1 & 1/50 HRT Y 25 S g | 39 YARIRN &1 dH-a1UTg HI &

Options :



Question Number : 50 Question Id : 92775911588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much should a shopkeeper mark on an article that costs him % 800 to earn a profit of 15% after allowing a discount
of §%?
Options :

| % %680

>, % %846.40
3 & %1000

4 % %856

Question Number : 50 Question Id : 92775911588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GHTGR Dl 7 800 T HY Heg aIcil Ueh 9% R fohaT1 Ged 3ffdhd BT TMieT dlfds 8% 1 Be o b alg Hi
15% o1 TTH SAISId Bl T |

Options :

| ® Z680




» % ¥846.40
3 » T1.000

4 % %856

Question Number : 51 Question Id : 92775911589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With a discount of 10% on the price of sugar, I was able to buy 2 kg more sugar with ¥ 450. What was the marked price
of the sugar per kg?
Options :
| % %23

5 o T25
3 % ¥22.50

4 % %2450

Question Number : 51 Question Id : 92775911589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A1 & G W 10% D1 Be [oe o d1a, T 7 450 W 2 el 21 917 @i Gabdr 411 I &1 wfd fharum sifed
qeg 1 YT

Options :

1. % ¥23



5 & %25
3 % 322.50

4 % T24.50

Question Number : 52 Question Id : 92775911590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: ; ; g "l : £ . ;
If simple interest on a certain sum in 4= years is 5z of the sum, then the rate of interest per annum is:

Options :
1 ® 4%

) % 12.5%
3 % 10%
4.« 8%

Question Number : 52 Question Id : 92775911590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o e SFRIRT R 41 a9 U €9 aTel Ie/RU] ST 3 eFRIR 1 55 . 1 <16l 1 ot & 1 e

Options :
1 #® 4%

5 % 12.5%



3 % 10%

4.« 8%

Question Number : 53 Question Id : 92775911591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:
72 +3{4%x3-22%x28+5+9}+9

Options :
1. % -81.2

2« 70

Question Number : 53 Question Id : 92775911591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BN
72 +3{4%x3-22x28+5+9}+9

Options :
1 % —81.2



7« 70

Question Number : 54 Question Id : 92775911592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the greatest possible length which can be used to measure exactly the following lengths?

6m,5m56cm. and 10 m 36 cm

Options :
1 ®% 4m

7« 4cm
3 % Scm

4. % 21lm

Question Number : 54 Question Id : 92775911592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 HYHTH YU TaTg, J1d B, TP IUART 9 Talg &1 fdedel Tel (Quid:) ¥, A9 o [T fa1 S Gl 82

6 m,5m 56 cm, 3R 10 m 36 cm
Options :



1 % 4m
)« 4com
3. % Scm

4. % 2lm

Question Number : 55 Question Id : 92775911593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is prime number?
Options :

1 #® 78

(98]
b
L]
L

4.« 61

Question Number : 55 Question Id : 92775911593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T ST 2T TET g

Options :
1. % 78

) #® 56



4.+ 6l

Question Number : 56 Question Id : 92775911594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 8 e . : — PR |1

The numerator of a fraction is increased by 25% and denominator is decreased by 40%. The resultant fraction is —. find
i : el

the original fraction.

Options :

i | w

1. #

E

N

#
"
P

w
A
o |

Question Number : 56 Question Id : 92775911594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T P T SfR1 25% TG SITCl & R &R BT 40% TE SNl ¢ | Al TROIHT firay 22 8, 1 77 et 1 BIfor|

Options :

Ul | wa

1. %



E

N
#
-
B2

w
A
o | @

| .

Question Number : 57 Question Id : 92775911595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number of 5 digits that is exactly divisible by each 12, 15 and 20.
Options :

|« 99960

5 % 99970
3 % 99980

4 % 99990

Question Number : 57 Question Id : 92775911595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 i BT T T BT [T DL ol 1dh 12, 15 3R 20 H I YAP GRI TR TRe I [qHT B
Options :
| v 99960




5 % 99970
3 % 99980

4 % 99990

Question Number : 58 Question Id : 92775911596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following numbers are divisible by 154?

408, 518, 616, 854, 1078
Options :
| = 408 only

, % 18 only
3 % 0616 and 854 only

4 « 016 and 1078 only

Question Number : 58 Question Id : 92775911596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfeRed § 9 S I 9= 154 GR1O11 aRE faHrsg 82

408, 518, 616, 854, 1078
Options :




| % Ad 408

, % HAA 518

s % $aAd 616 3R 854
4 v PAT616 HR 1078

Question Number : 59 Question Id : 92775911597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is true for divisibility of the number 234108 by 2, 3. 4 and 87
Options :

| = Perfectly divisible by 2 only

, % Perfectly divisible by 2 and 4 only
3 Perfectly divisible by 2, 3 and 4 only

4 % Perfectly divisible by 2, 4 and 8 only

Question Number : 59 Question Id : 92775911597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfReT 5 € &1 ST HYH 2. 3, 4 3R 8 GRIIBA1 234108 &I f[GHSTAT & ol gl 82

Options :



| x P2 UG e W faursy
, % $IA2 3R 4 WY RE W fAura

had 2, 3 AR 4 W G e I faHrsg

3.¢¥

had 2, 4 3R 8 ¥ R WRe Y faursy

Question Number : 60 Question Id : 92775911598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of J 5 2 .

6 g ah g
8 cwbw el a1 15}
| 13 !

20 5 67) 5 g

Options :
1. % 50.61

5 & 50.16
3 % 16.51

4 % 15.61

Question Number : 60 Question Id : 92775911598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2 [_9
e

13

1)

20 5 67)

Options :
1. ®% 50.61

5 & 50.16

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

2 (2
w42

&1 HH J1d B |

General Hindi

4
927759478
0

0
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927759504
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Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759599
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775911599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifad § 3 o ur: @i Riv e g
Options :

1. % gefi & M

2. % ddl & M

3. ¢ HINI3{ & I1H

4. % I &b AH

Question Number : 61 Question Id : 92775911599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad # 3 HF ure: w6 ki g 8
Options :

1. % ge&fl & AW

2. % Gddl & AH

3. ¢ YTTS{T & A1H

4. % HgIHl & H

Question Number : 62 Question Id : 92775911600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH-I1 g Ifad T8l /2
Options :




1. % gR - IGRAMT
2. % HIel - AIfeH
3. ¢ HId - HIagA!
4. % o4 - QST

Question Number : 62 Question Id : 92775911600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH-I1 g Ifd T8l /2

Options :

1. % dR - IR

2. ® Hrefl - Hifer

3. ¥ Bid - BTl

4. % O5T - G

Question Number : 63 Question Id : 92775911601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UhaTH - Sgaa-y & SMYR IR I BT DHIH-91 T Tg! Ta1 82
Options :

1. % T.g|

2. % g -gY

3. % IR - BART

4. QI - g1

Question Number : 63 Question Id : 92775911601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uhad — Sgaa-y & SMTUR TR oI H1 HIH-91 g Hgl 751 8?2
Options :

T




Question Number : 64 Question Id : 92775911602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fa_Te Qe 8N | 9T § Tdd BT He 8-
Options :

1. ¢ FAHHST

2. % Yddhrd

3. ® YA HiTSd BT

4. % gdeqye Hidwd Brd

Question Number : 64 Question Id : 92775911602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faRTe QerdT €171 aTerd # &1et bl 93 8-
Options :

1. ¢ JAAHDIA

2. % Yddld

3. ® A HiTSd BT

4. % ggeqHe Hidsd BId

Question Number : 65 Question Id : 92775911603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ ey g 1 gaifis Suged Sareeu &-
Options :

1. ¢ <l faererd el & |

2. ® ORI HHY ddIgT |




3. % gg QI
4. % 7 UaT IR) 910 R UNiG A 3|

Question Number : 65 Question Id : 92775911603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeafaa & @ et gft o1 gaffie Suged IeEu &-
Options :

1. ¢ a1 faaer St g |

2. % GRTYHY Id1U |

3. % 9g I

4. % 1 UAI IR 91 T UG A 311U

Question Number : 66 Question Id : 92775911604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I YD T&f BT ISTE B-
Options :

1. # ¥ pedld Ud gol g

2. % T gfafe o R g

3. % 3 @ W e g

4. ¢ AT A Ug w T

Question Number : 66 Question Id : 92775911604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITad 1Y Tef T I8l 8-
Options :

1. % ¥ pedld Ud gal g

2. % T gfafe o w1 gl

3. % STOH GHT W e g |




4. ¢ FERTR AT R T

Question Number : 67 Question Id : 92775911605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifead # ¥ 1 & YR TR IR a1 ©-

Options :

1. % SR gt e, Y0 3fR faor faermera ug=, awi 8= &t

2. ¢ DS TR, HHYH, T 3R MM oY aie i U ford g
3. % gg il IR 93T 3R WX o1 77|

4. % gyl g3 3R it o I

Question Number : 67 Question Id : 92775911605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FoffEd & ¥ T & SMYR R IR 91 8-

Options :

1. % O g A, I 3R faor faenea ug, auf g1 @it

2. ¢ TS A ST, HHYH, T 3R MM oY st U ford g
3. % 9g Tl R 93T 3R TME gl T[T

4. % quf g3 iR Juft o g

Question Number : 68 Question Id : 92775911606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 I3 1d T¢ q TR 8T AfhT 3T &€, B &dT Ta1 @il | [T & YR TR T BT VS 8-
Options :

1. % Hbddrdad are

2. % Ygdrad a1

3. % fHi%d gt

4. ¥ Igad a1




Question Number : 68 Question Id : 92775911606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 T I0d &¢ T IR &7 AfdhT 3T ¢, P gal el @t | T & YR TR a1 BT S 6-
Options :

1. % Ybhddrad die

2. % Jdgadd drag

3. % fafyg g

4. qgad A

Question Number : 69 Question Id : 92775911607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN A S Bl R 51| a9 T HHATA §-
Options :

1. % If o= &) R Hl

2. ¢ 991 gRI S| &1 WR fobar |

3. % It o0 S Y R HR el 7

4. % I 4 Sl ¥ 9gd WR o

Question Number : 69 Question Id : 92775911607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN = I ) WR 51| 919 BT HHATA B-
Options :

1. % I = I WR FHRall 5

2. ¢ TEH gRI §=d1 &1 WR b 77|

3. % Il 30 SAl 9 TR PR @1 6

4. % et A Iodl Y 9gd WR foan|



Question Number : 70 Question Id : 92775911608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faRTH 1 YMfeiep 31 TR

Options :

1. # 3cPhld

2. ¥ ogXld

3. % faRly

4, % Ychld

Question Number : 70 Question Id : 92775911608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foRT 1 2Mfead 31 TSl

Options :

1. # 3cPhld

2. % ogXld

3. % faly

4. % YcPpld

Question Number : 71 Question Id : 92775911609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qul faRTH 7 312 B-

Options :

1. ¢ ORI TRE S U1 3]

2. % FId IdAd SHI

3. % YIS X BhAl

4. % YHH IS Ol

Question Number : 71 Question Id : 92775911609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ot faRTH &7 31 B-
Options :

1. ¢ TR aRE S+ T 3EAT
2. % Id Iod BHHI

3. % IS R BB

4. % YHPI &6 Sl

Question Number : 72 Question Id : 92775911610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9§ oF 91 gfcd et 82
Options :

1. % Sadl

2. ¥ BSUN

3. % Tds

4. % U

Question Number : 72 Question Id : 92775911610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & @ o a1 gfeed 2ss 82
Options :

1. % sadl

2. ¥ §&ANT

3. % Tdls

4. % TIUGR

Question Number : 73 Question Id : 92775911611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fopars & § 1 a1 & 99 & 9% &
Options :

1. # Uhddd

2. ¥ dgdd-

3. % fgaeH

4. % o

Question Number : 73 Question Id : 92775911611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopars < § 1 a1 & a9 &1 9 §-
Options :

1. # Uhddd

2. ¥ dgdd-

3. % fgaed

4. % oo

Question Number : 74 Question Id : 92775911612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 B 1 I 3G ST &2
Options :

1. % 3US9s &1 UM fUarsy|
2. % 431 Ui W a1 U

3. ¥ U gE-g@ BT g
4. % Ul gQ-g:@ S At g

Question Number : 74 Question Id : 92775911612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T8 B9 1 916 3 Tl 82
Options :

1. % 3US9s &1 UM fUarsy|
2. % 43P i W a1 U

3. ¥ U gU-g:d ST A g
4. % Ul gQ-g:@ S At g

Question Number : 75 Question Id : 92775911613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 7T ot | ¥ Yg 91 g

Options :

1. % U &1 IAfd & fore Aifesd &1 URon o1 31aRa g |
2. THS &1 (A & o8 Tifecd T DROM AT ATaF g |
3. % TP HRUY TS J T BT 31f&Ted T B

4. % U yH-TIfd T Sfig9-a19q Hd 3|

Question Number : 75 Question Id : 92775911613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fu 7T ol | 9 Yg 91 g

Options :

1. % A B I & o e P IR0 QT SIS | |
2. ¢ TS Bt IAfA & e Tifiec I RO A1 S1a0 3|
3. % U BRI Y FHS J Ao BT T T 7

4. % 3 U yH-TIfT I Sfig9-a19q Hd g |

Sub-Section Number : 2
Sub-Section Id : 927759600
Question Shuffling Allowed : Yes

Question Id : 92775911614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (76 to 80)

T TTQ TR BT STy Y 3R ITd A feu T U H1 IR S

TIfied & e & &1a &1 Hied Jad 3HfiE Sfed T 8 | faddt Sreds &1 AR g I0g I 81d1 8, 39 aHe 9 & =0 H g1
AT 7 ThdT | U BT WS GOR HId WS Y 30 Fald &b HRUN T8Il ¢ | Faald &I UishdT dl 3Ry I Fald! Wed! 8, W T HIass
1 YR q9 811 § 5a dead & i s9RT 3nffer-aiepfaes Rufaay, sra-wut qur 4w § faxars 33 ovrd €| 3afa anfitafaera o
BTl FYiR0T, ggd areiten g1 8| a1 & sfaem & snyfe &1 & deda & Wy g 193t ot & IR & femrs uga et 3
TN ¢ o fEel-wfec & sy Siia=-aiy & Uade HRdg 8RYS &1 S 190 /dll & 31 Jed H T 1850 H §3HT| 3(d: Sfg-aad! 4
0 Y &I B MY Bel-Med & R™H F1 ay 7 feran| fbg gfaem &1 Ifawsiar a1 9eard § a8 a9 Wad [l ave & YiHe 1gt 3ial
DRl ZAET b DHTd-TAUTSH B 3T HH-Y-HH & [l yahrd] o1 Tyd: 3T H-dTell aUT 39 fed & fore W 1 agd o&
STRErT B TfRT | Afe B 1857 B SNYIh BTl T YRS foig A foran S, o Suad &1 =1t 91 81 &Il § | 6 TilaH, Gl H &
faR1eR qTedl &1 cHRIgE BT HIdt YT--FTHAATS! SR Yoliare! | Frdare Wfdadr o= 9RY didhd T el & oIt JaTe g1 it | I
Tgd - 10 R Y e = 61 SR Si3eT IRieh! - off S0 S 1 TRERT &1 ISR YD 6 DI UiohaT BT Ad- 10T fhaT|

Sub questions

Question Number : 76 Question Id : 92775911615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRdg gRefs o1 o g g A gam um
Options :

1. ® 1857

2. % 1850

3. % 1853

4, % J-4dld-

Question Number : 77 Question Id : 92775911616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Afie & T2 SIa-wus & MR fog i srazaes =& 82
Options :

1. % 3o fRUfd # geetra

2. % gipide (Ul H ggaa



3. ¢ JHde fRUfd | geara
4. % HIA-TUI gUT 1T H SSd

Question Number : 78 Question Id : 92775911617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot HTA-TUE & SRR g BT WHR HA & o8 TS B! 1 AT 82
Options :

1. % fordft e o &1 o Iy

2. % Yl | S/EM® URda-

3. ¥ Ughrdl o URacH H BId-aHST® &1 SR T

4. ® IS 1 H Sead

Question Number : 79 Question Id : 92775911618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TraH fob &l faRieht areal 1 cohvige &1 H1d Ur?
Options :

1. ¢ AHAATE! SR Ysitarel

2. % YgGaT 3R SIS ANH

3. % FHIER 3R fhaH

4. % T 3R AMuH

Question Number : 80 Question Id : 92775911619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 <1 shifd = GHTS! ! 99 H Y {9 =0 # guifad =g fobam
Options :

1. ® {HAAIG BT U

2. % UggGdT o [gaRI H uRacd

3. % SN WHR B! Aifadl & gRad

4. ¢ USiidIG &1 JHIG 3R FHTSIATG B ST




Question Id : 92775911614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

U 7T TR T ST B 3R ITF A feu U s T IR

e & SfaeT™ H BTd ol Wb Jad 3ife Sfed JHwn g | fha dlads o1 JIR™ fhd 999 A gid1 7, 39 J3-d 90 & U H g
AT ST YhdlT | T BT WS R BT WS U 30 TG ad P HRUT T Bidl 6 | SGaTd b1 UichdT il 3RY I Il ga! 8, W T4 HIaas
&1 FA4fRor 9 8ia1 8 519 sard & o guR snfdfes-aiepfas fRufaal, wra-ul qur v & fowars 39 @ || 3afee sfedfaera o
HIa-fFAufRo, Sgd adien giar 3| fed)-anfiee & gfagr & enyfie »1a & daara & Wy fug 1991 2t & I | fears us @t Q)
T § o6 fedl-anfeca & sy Sfta--a1y & Uadd HRdg gRY% &1 o 19d] Il & 31 Aeg & I 1850 T §3HT| 3fdl: SfAgNI-arga! 7
9 a9 &I B MY Bel-Mied & SR™H F1 ay 7 feran| fhg gfaer ot Ifawiar a1 9eama o a8 au Wad [l ave &1 YiHeT 78t siar
BT | SIAEN & BIA-[AUTSH DI 3T HH-Y-HH &l fafia Tghidl & TWEd: S/ dr-areh adl $9 ed & ol WY ol g0 $8
IR B T afe 9 1857 B1 SMYAIh BTl b1 YR foig A foran S, o Iuderd I 21 G 1 Sffcl 8 | 6 FlaT, §Hre § &l
faR1eR qTepdl BT cHRIgT BT HIdt YT--FTHAATE! SR Yoliare | Trdare Wfdadr o= TRY didhd T el & fore Jare g1 it | I
Tgd A 0 R Y e = a1 SiR 3i3eT IRieh! A off S0 S 1 TRERT 1 THIER SHTYAD 16 DI Ufohal BT Ad- 1T fhaT|

Sub questions

Question Number : 76 Question Id : 92775911615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRg RYS &1 o fobd I & gafT U1
Options :

1. % 1857

2. % 1850

3. % 1853

4. % g-~qdld-

Question Number : 77 Question Id : 92775911616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tifedfas™ # T3 wra-@us & Myl forg aan srawas T8 82

Options :



1. % 3 fufq H sgama

2. # gipide Ul H ggaa

3. ¢ oHITa® fRUfd | Seard
4. ® PHII-UT gYT 1T § deard

Question Number : 78 Question Id : 92775911617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forel HTA-US & SRR foig B! WHR FHRA & ol @D $1 31 AT 82
Options :

1. % fordft e o &1 o 9y

2. % Yghudl & s URadA

3. ¢ gl & URad § Brel-faHTeIe o1 IRerh g

4. % oHIfA® I H dgad

Question Number : 79 Question Id : 92775911618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fira fob gl feridt drebll bt cebrige o1 BTet UT?
Options :

1. ¢ FrHdaTe 3R ysitarg!

2. % YgGaTt 3R SIS NS

3. % GHiER R T

4. % T SR MIS

Question Number : 80 Question Id : 92775911619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 &1 Hifd 7 THN &I 9 § ¥ fog 70 d gvifad Tgt fam

Options :
1. ® grHJIG BT Yd-

2. % Yggdi & faarl # aRkad=




3. % SN PR &1 Atfadl & gRad
4. USIIATG & GHIG 3R JHTSIAG &I o H

General English
Group Number : 5
Group Id : 927759479
Group Maximum Duration : 0
Group Minimum Duration : 0
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Group Marks : 20
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Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 92775911620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

This new laws serves notice that criminals will not go unpunished.
Options :

1. ¥ laws

2. ® serves

3. % will

4. * unpunished

Question Number : 81 Question Id : 92775911620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

This new laws serves notice that criminals will not go unpunished.
Options :

1. ¥ laws

2. % serves

3. % will

4. % unpunished

Question Number : 82 Question Id : 92775911621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

Her interpretation of the music was to literal.

Options :

1. # interpretation
2. % was

3.¥% to

4. % literal



Question Number : 82 Question Id : 92775911621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

Her interpretation of the music was to literal.

Options :

1. # interpretation
2. # was

3.¥ to

4. * literal

Question Number : 83 Question Id : 92775911622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. ¥ secular

2. % sacular

3. % seculer

4, % gekuler

Question Number : 83 Question Id : 92775911622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. ¥ secular

2. # sacular

3. # seculer

4, % gsekuler



Question Number : 84 Question Id : 92775911623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. # dispikable

2. ¥ despicable

3. % dispicable

4. % despecable

Question Number : 84 Question Id : 92775911623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the correct spelling.
Options :

1. # dispikable

2. ¥ despicable

3. % dispicable

4. % despecable

Question Number : 85 Question Id : 92775911624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are four jumbled sentences. Pick the option that gives their correct order.

A. On my work table the mouse is kept on the left hand side for convenience, though I can manage on the right side as well.

B. The case in point is the use of the computer mouse.

C. But if any of my right-handed colleagues had to use the mouse at my table, it becomes a scene worthy of being recorded.

D. While we lefties have adapted ourselves to the right-handed world, the right-handed would not be able to survive for even a day in our left-
handed world.

Options :

1. ¥ ABCD

2. % BCDA



3. ¥ DBAC
4. % DCBA

Question Number : 85 Question Id : 92775911624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are four jumbled sentences. Pick the option that gives their correct order.

A. On my work table the mouse is kept on the left hand side for convenience, though I can manage on the right side as well.

B. The case in point is the use of the computer mouse.

C. But if any of my right-handed colleagues had to use the mouse at my table, it becomes a scene worthy of being recorded.

D. While we lefties have adapted ourselves to the right-handed world, the right-handed would not be able to survive for even a day in our left-
handed world.

Options :

1. ¥ ABCD
2. % BCDA
3. % DBAC
4. % DCBA

Question Number : 86 Question Id : 92775911625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select one word for the following group of words.

One who performs tricks with hands to amuse people.
Options :

1. % Porter

2. ¥ Juggler

3. % Hawker

4. % Draper

Question Number : 86 Question Id : 92775911625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select one word for the following group of words.

One who performs tricks with hands to amuse people.
Options :

1. # Porter

2. % Juggler

3. % Hawker

4. % Draper

Question Number : 87 Question Id : 92775911626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

He arrived at the hospital ward holding a of flowers.
Options :

1. # group

2. % flock

3. # dozen

4. ¥ bunch

Question Number : 87 Question Id : 92775911626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

He arrived at the hospital ward holding a of flowers.
Options :

1. # group

2. % flock

3. ® dozen

4. ¥ bunch



Question Number : 88 Question Id : 92775911627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, the first and last sentences are given and the four sentences in the middle have been jumbled. Rearrange them to form a
meaningful passage.

S1. While penning Poirot’s first case in quiet, eerie Dartmoor, Agatha Christie had imagined that Hastings would be the ‘stooge assistant’ to the
cerebral Belgian detective.

P. In response to the wiry, shoddy, sullen Holmes, Christie came up with the short, dignified, nattily-dressed, sociable Poirot.

Q. Arthur Conan Doyle had set The Hound of the Baskervilles in this very place in Devon!

R. The two share their brilliance in the art of detection, of course, but even here there is a difference in approach.

S. Christie’s detective, it would seem, was the very antithesis of Conan Doyle’s sleuth.

S6. Antonio Gramsci took note of this, and took sides, preferring Poirot’s ability to combine experimentation with psychological insight to
Holmes’s reliance on the ‘cold science of deduction’.

Options :

1. * PQSR
2. % RQSP
3. #* SPRQ
4. ¥ QSPR

Question Number : 88 Question Id : 92775911627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, the first and last sentences are given and the four sentences in the middle have been jumbled. Rearrange them to form a
meaningful passage.

S1. While penning Poirot’s first case in quiet, eerie Dartmoor, Agatha Christie had imagined that Hastings would be the ‘stooge assistant’ to the
cerebral Belgian detective.

P. In response to the wiry, shoddy, sullen Holmes, Christie came up with the short, dignified, nattily-dressed, sociable Poirot.

Q. Arthur Conan Doyle had set The Hound of the Baskervilles in this very place in Devon!

R. The two share their brilliance in the art of detection, of course, but even here there is a difference in approach.

S. Christie’s detective, it would seem, was the very antithesis of Conan Doyle’s sleuth.

S6. Antonio Gramsci took note of this, and took sides, preferring Poirot’s ability to combine experimentation with psychological insight to
Holmes’s reliance on the ‘cold science of deduction’.

Options :
1. ¥ PQSR
2. % RQSP



3. % SPRQ
4.+ QSPR

Question Number : 89 Question Id : 92775911628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom.

Donkey's years

Options :

1. % To be as dull as a donkey

2. # To have large ears like a donkey
3. ¥ A very long time

4. # A quiet reflection

Question Number : 89 Question Id : 92775911628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom.

Donkey's years

Options :

1. # To be as dull as a donkey

2. # To have large ears like a donkey
3. % A very long time

4. # A quiet reflection

Question Number : 90 Question Id : 92775911629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which expresses the meaning of the underlined idiom.

The Senior Manager from Research and development department was called on the carpet for leaking the business secret.




Options :

1. ® Welcomed and appreciated by authority

2. ¥ Questioned and reprimanded by someone in authority
3. # Called for a meeting

4. % Applauded in front of a crowd

Question Number : 90 Question Id : 92775911629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which expresses the meaning of the underlined idiom.

The Senior Manager from Research and development department was called on the carpet for leaking the business secret.

Options :

1. ¥ Welcomed and appreciated by authority

2. % Questioned and reprimanded by someone in authority
3. % Called for a meeting

4. % Applauded in front of a crowd

Question Number : 91 Question Id : 92775911630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Replenish
Options :
1. # Restrain
2. % Deplete
3. # Damage
4. ¥ Restore

Question Number : 91 Question Id : 92775911630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word from the options that is closest in meaning to the given word.

Replenish
Options :
1. # Restrain
2. # Deplete
3. % Damage
4. ¥ Restore

Question Number : 92 Question Id : 92775911631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to improve the underlined segment in the following sentence. If no improvement is required, select ‘No improvement’.

This is the house what I bought last year.
Options :

1. # whom

2. ¥ that

3. % who

4. % No improvement

Question Number : 92 Question Id : 92775911631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to improve the underlined segment in the following sentence. If no improvement is required, select ‘No improvement’.

This is the house what I bought last year.
Options :

1. ¥ whom

2. ¥ that

3. % who

4. % No improvement



Question Number : 93 Question Id : 92775911632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to improve the underlined segment in the following sentence.If no improvement is required, select ‘No improvement’.

To think and to act accordingly are two different things.
Options :

1. % is

2. % was

3. # have

4. ¥ No improvement

Question Number : 93 Question Id : 92775911632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to improve the underlined segment in the following sentence.If no improvement is required, select ‘No improvement’.

To think and to act accordingly are two different things.
Options :

1. % is

2. % was

3. * have

4. ¥ No improvement

Question Number : 94 Question Id : 92775911633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The Principal asked the Professor whether would he be willing to lead the research team that year.

Options :
1. ¥ he would be willing
2. % will he be willing



3. % he will being willing

4. ¥ No improvement

Question Number : 94 Question Id : 92775911633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The Principal asked the Professor whether would he be willing to lead the research team that year.

Options :

1. ¥ he would be willing
2. % will he be willing

3. #* he will being willing

4. % No improvement

Question Number : 95 Question Id : 92775911634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below.

Decide
Options :

1. # Arrive
2. % Settle
3. % Waver
4. % (Clear

Question Number : 95 Question Id : 92775911634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is opposite in meaning to the word given below.

Decide



Options :

1. # Arrive

2. % Settle

3. % Waver

4. % (Clear

Sub-Section Number : 2
Sub-Section Id : 927759602
Question Shuffling Allowed : Yes

Question Id : 92775911635 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the given passage and answer the questions based on it.

While people leave their homes to travel, this unique couple did just the opposite. They took their whole house along! Their house is just 130 sq.
ft. and holds the record for the most travelled house in the world!

The couple who owns it has been to 37 states and 16 national parks in the US. Their gorgeous house-on-wheels has wood furnishings, two lofts, a
workspace and a shoe rack too.

The couple discovered their love for travel on a road trip to Lake Michigan. It was then that they decided to find various alternative ways to
explore their country, and thus came the tiny house movement. They, of course, started to document every step.

Sophia quit her marketing job and the two of them went back to their filmmaking roots. They wanted to travel and needed a tiny house for the
same. To achieve their dream, the couple started building their home on wheels. The work took around nine months to complete. Peter, being a
freelancer, had the whole time to work on this house along with his friends and family.

The couple spent nearly $15,000 to build their home. However, adding solar panels and flooring increased the cost to $20,000. Their house did
not cost much, as the couple used only reclaimed and recycled materials so they saved about $6000. Their kitchen cost only $3000 as the
countertop is made using a wide variety of trees that fell in a tornado.

Sub questions

Question Number : 96 Question Id : 92775911636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these details about the house is NOT mentioned in the passage?
Options :

1. #* Solar panels

2. # Kitchen



3. % Lofts
4. ¥ Sofas

Question Number : 97 Question Id : 92775911637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the statement correctly.
The house-on-wheels was built by:

Options :

1. # Sophia and her marketing team

2. Sophia, Peter and his friends and family
3. % Peter and a freelancer

4. % Sophia and members of the film-making unit

Question Number : 98 Question Id : 92775911638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much did the house-on-wheels cost them?
Options :

1. ¥ Three thousand dollars

2. # Five thousand dollars

3. # Fifteen thousand dollars

4. ¥ Twenty thousand dollars

Question Number : 99 Question Id : 92775911639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements conveys that the couple were very organised in their work?
Options :

1. ¥ They started to document every step.

2. # They used recycled materials.

3. # Sophia quit her marketing job.

4. # They added solar panels to their house.



Question Number : 100 Question Id : 92775911640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what context is a tornado mentioned in the passage?

Options :

1. # A tornado destroyed the house after it was built.

2. # The house took a long time to be built because of a tornado.
3. % They used the wood of trees which fell during a tornado.

4. # They could not travel in their house-on-wheels because of a tornado.

Question Id : 92775911635 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the given passage and answer the questions based on it.

While people leave their homes to travel, this unique couple did just the opposite. They took their whole house along! Their house is just 130 sq.
ft. and holds the record for the most travelled house in the world!

The couple who owns it has been to 37 states and 16 national parks in the US. Their gorgeous house-on-wheels has wood furnishings, two lofts, a
workspace and a shoe rack too.

The couple discovered their love for travel on a road trip to Lake Michigan. It was then that they decided to find various alternative ways to
explore their country, and thus came the tiny house movement. They, of course, started to document every step.

Sophia quit her marketing job and the two of them went back to their filmmaking roots. They wanted to travel and needed a tiny house for the
same. To achieve their dream, the couple started building their home on wheels. The work took around nine months to complete. Peter, being a
freelancer, had the whole time to work on this house along with his friends and family.

The couple spent nearly $15,000 to build their home. However, adding solar panels and flooring increased the cost to $20,000. Their house did
not cost much, as the couple used only reclaimed and recycled materials so they saved about $6000. Their kitchen cost only $3000 as the
countertop is made using a wide variety of trees that fell in a tornado.

Sub questions

Question Number : 96 Question Id : 92775911636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these details about the house is NOT mentioned in the passage?
Options :

1. # Solar panels



2. % Kitchen
3. # Lofts
4. ¥ Sofas

Question Number : 97 Question Id : 92775911637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the statement correctly.
The house-on-wheels was built by:

Options :

1. #® Sophia and her marketing team

2. % Sophia, Peter and his friends and family
3. % Peter and a freelancer

4. ® Sophia and members of the film-making unit

Question Number : 98 Question Id : 92775911638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much did the house-on-wheels cost them?
Options :

1. #® Three thousand dollars

2. # Five thousand dollars

3. # Fifteen thousand dollars

4. ¥ Twenty thousand dollars

Question Number : 99 Question Id : 92775911639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements conveys that the couple were very organised in their work?
Options :

1. ¥ They started to document every step.

2. #® They used recycled materials.

3. # Sophia quit her marketing job.



4. % They added solar panels to their house.

Question Number : 100 Question Id : 92775911640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what context is a tornado mentioned in the passage?

Options :

1. # A tornado destroyed the house after it was built.

2. % The house took a long time to be built because of a tornado.
3. ¥ They used the wood of trees which fell during a tornado.

4. % They could not travel in their house-on-wheels because of a tornado.

Disciplinel
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Group Id : 927759480
Group Maximum Duration : 0
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Sub-Section Id : 927759603
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775911641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which article of the Constitution of India the provision related to child labour given?
Options :

1. *= Article 21

2. % Article 22

3. * Article 23

4. ¥ Article 24

Question Number : 101 Question Id : 92775911641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA $ Y & b argede  1et 44 ¥ Taifdd rae few e 82
Options :

1. % 3Jwq 21

2. % 3G 22

3. % 3w 23

4. TG 24

Question Number : 102 Question Id : 92775911642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which list of the Constitution of India has Labour Welfare been included?
Options :

1. # Union list



2. * State list
3. # Concurrent list
4. % Central list

Question Number : 102 Question Id : 92775911642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HT0 DI YRA & T $i [ It & =mfera fpar man g2

Options :

1. % U gl

Question Number : 103 Question Id : 92775911643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which constitutional amendment was Workers' Participation in Management added?
Options :

1. # 40th Amendment Act

2. ¥ 42nd Amendment Act

3. % 44th Amendment Act

4. ¥ 39th Amendment Act

Question Number : 103 Question Id : 92775911643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Hdefe TNeH gRT Udee H HHATRAl 31 GgHIRTA Bl ST T
Options :

1. % 40 9 I=Me SHfAFTH

2. ¥ 42 91 SRy ffgH



3. % 44 97 YA AT
4. % 39 g gy AT

Question Number : 104 Question Id : 92775911644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the International Labour Organization (ILO) established?
Options :

1. 1919

2. % 1914

3. % 1921

4. % 1924

Question Number : 104 Question Id : 92775911644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Y T3 (ILO) T RITGHT forg oy  g82
Options :

1. ¥ 1919

2. % 1914

3. % 1921

4. % 1924

Question Number : 105 Question Id : 92775911645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the 100th Convention of ILO (International Labour Organization) related?
Options :

1. % Child labour

2. # Agriculture labour

3. % Equal remuneration

4. # Social security



Question Number : 105 Question Id : 92775911645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ILO (RIS &1 TT-) BT 100d1 TRITH fohad Teifdid g2

Options :

Question Number : 106 Question Id : 92775911646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of September 2021, who is the current director general of International Labour Organization (ILO)?
Options :

1. ¥ Guy Ryder

2. # Ban ki Moon

3. # Gary Phillips

4. % Ravindra Verma

Question Number : 106 Question Id : 92775911646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIR 2021 e 1 RUTT & SIFAR, SIRTI 4 TS (ILO) & TAH HEIGRID B g2
Options :

1. ¥ MY RITSY

2. % HBIGA

3. % TR fopfere

4. % Idlv qHl




Question Number : 107 Question Id : 92775911647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the first Factories Act come into existence?
Options :

1. % 1919

2.9 1881

3. % 1991

4. % 1898

Question Number : 107 Question Id : 92775911647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH SR fAaH forg av 7 siferea o smam
Options :

1. #1919

2. ¥ 1881

3. % 1991

4. % 1898

Question Number : 108 Question Id : 92775911648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Factories Act,1948 is NOT applicable when there are:
Options :

1. # 10 workers with aid power

2. % 20 workers with aid power

3. % less than 10 workers

4. # 20 workers without aid power

Question Number : 108 Question Id : 92775911648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HREMT AT, 1948 FAafeRad o 9 forg uRfRufa § @r =18t giam
Options :

1. % 10 HHARY, TeTO& fad & 1Y

2. % 20 HHAR], TP ad & 1Y

3.+ 10 ¥ HH HHART

4. % 20 HHARI, TP fad & o1

Question Number : 109 Question Id : 92775911649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Factories Act, 1948 defines the term ‘factory’?
Options :

L% 2(g

2. % 2(%)

3.% 2 (m)

4. % 2 (h)

Question Number : 109 Question Id : 92775911649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AT, 1948 D1 Gl § T - URT, SRGTT (factory)' Usg BT TIRHIIT H<dt 82
Options :

L. % 2(g)

2. % 2(D)

3. 2 (m)

4. % 2 (h)

Question Number : 110 Question Id : 92775911650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under the Factories Act, 1948,the term ‘week’ means a period of seven days beginning at midnight on



Options :

1. #* Sunday

2. % Friday

3. * Wednesday
4. ¥ Saturday

Question Number : 110 Question Id : 92775911650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHRETT AT, 1948 &F S, TETE (week) TG BT IS I RA B @IS I AR A URY 8t
Options :

1. % IAqaR

2. % R[hd}

3. % dYdR

4. ¢ QMAR

Question Number : 111 Question Id : 92775911651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the permissible working hours in a day as per the Factories Act, 1948?
Options :

1. %7

2. % 8

3.9

4. % 10

Question Number : 111 Question Id : 92775911651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRAMT AT, 1948 & AR TH o B B & SIH °e fova g7

Options :




1. %7
2. %8
3.9
4. % 10

Question Number : 112 Question Id : 92775911652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Acts does NOT come under the legislation of Industrial Relations?
Options :

1. # Industrial Disputes Act

2. % Industrial Employment (Standing Orders) Act

3. % Maternity Benefit Act

4. # Trade Union Act

Question Number : 112 Question Id : 92775911652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & § sH-ar sifafom , 3Nl gee & faem (legislation) EEHEIGI %?
Options :

1. % 3N fare sifdfam

2. % 3enfie e (= sren) sifdfay

3. ¥ OIgcd oY Sffefaay

4. % ¢S gAY 3ifefrad

Question Number : 113 Question Id : 92775911653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Payment of Wages Act, 1936, the fine shall NOT exceed of the Workers’ wages.
Options :

1. ¥ 3%



2. % 2%
3. % 4%
4. % 5%

Question Number : 113 Question Id : 92775911653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aolge! ar HfAaH, 1936 & Sidqiid AT, FHAR & da- & T 3HfF T2 g AH T g |
Options :

1. ¥ 3%

2. % 2%

3. % 4%

4. % 5%

Question Number : 114 Question Id : 92775911654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of the Payment of Wages Act, 1936 are the provisions related to inspector given?
Options :

1. * Section 12

2. % Section 13

3. ¥ Section 14

4. * Section 15

Question Number : 114 Question Id : 92775911654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qﬁlﬁw W“CITL 1936 B! fb g YRT &5 Wﬁﬂ&‘@ (inspector) QWWWWW%V
Options :

1. # YRT12

2. % YRT 13



3. ¥ YURT 14
4. % YRT 15

Question Number : 115 Question Id : 92775911655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following legislations constitutes the Central Advisory Board?
Options :

1. ¥ Factories Act, 1948

2. # Industrial Disputes Act, 1947

3. ¥ Minimum Wages Act, 1948

4. ¥ Employee’s Compensation Act, 1923

Question Number : 115 Question Id : 92775911655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod ST gRT Hoid IAHR SIS &1 16+ [l 71 52
Options :

1. % DREMI AT, 1948

2. % 3N faarg Siffad, 1947

3. ¢ AqH oGyl AT, 1948
4. % HUIRY &faqfd sifefad, 1923

Question Number : 116 Question Id : 92775911656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Section 4(a) of the Payment of Bonus Act, 1965, the manner of calculation of gross profit in the case of a banking company is specified
in:

Options :

1. ¥ the First Schedule
2. ® the Fourth Schedule
3. % the Fifth Schedule



4. % the Third Schedule

Question Number : 116 Question Id : 92775911656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YT IRITTH, 1965 BT URT 4(a) P AR, ST HUHT & A T Thd AT ! 70T - Bt fAfd fpas fAfdp |2
Options :

1. ¢ GYH Il

2. % T} S

3. % Uigdl SIE!

4. % IR STl

Question Number : 117 Question Id : 92775911657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following benefits does NOT come under the Employees’ State Insurance Act, 1948 (ESI)?
Options :

1. % Maternity benefit

2. # Disablement benefit

3. ¥ Entertainment benefit

4. # Dependent benefit

Question Number : 117 Question Id : 92775911657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad & @ HH-91 Ay, HHaR I1eg ST SHfRITH, 1948 (ESI) & 3fdiid 78t 317dT 82
Options :

1. #® HIJd dTH

2. ® Aoty

3. ¢ FARGH AT

4. % % AT



Question Number : 118 Question Id : 92775911658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Employee’s Compensation Act, 1923, how much percentage of the wages shall be given for permanent total disablement resulting
from an injury?

Options :

1. # 50% of the wages

2. ¥ 60% of the wages

3. % 70% of the wages

4. ¥ 80% of the wages

Question Number : 118 Question Id : 92775911658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHART ffagfd sififaH, 1923 & SR, fht Aic & aRumIRa=u Rt quf fasmaird &1 fufa & 94 &1 foea-n ufawra faar s
Bl

Options :

1. % 9 BT 50%

2. ¢ I BT 60%

3. % 9aT BT 70%

4. % dd BT 80%

Question Number : 119 Question Id : 92775911659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Maternity Benefit Act,1961, how many weeks of leave were allowed to a female employee at the time of pregnancy before the recent
amendment in 2017?

Options :

1. ¥ 12 weeks
2. % 16 weeks
3. % 20 weeks



4. % 26 weeks

Question Number : 119 Question Id : 92775911659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATg@ ATy AT, 1961 & SfAld, 2017 H BTA & ARME Y Jd ARGA HHAR ! THIGRIT & THY fohd= T8 BT STHTRT STH UT2
Options :

1. ¥ 12 9ldle

2. % 16 9ddlg

3. % 20 Y9t dlg

4. % 26 9Udlg

Question Number : 120 Question Id : 92775911660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Employees Provident Fund and Miscellaneous Provisions Act, 1952 deals with the provision of Employees Deposit Linked
Insurance?

Options :

1. # Section 6B
2. % Section 6C
3. % Section 6D
4. % Section 6E

Question Number : 120 Question Id : 92775911660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR Hiasy Y 3R fafay graur oifdfm, 1952 B S URT, HHART o fefds S & Urau ¥ Jeifdd 82
Options :

1. * YT 6B

2. ¥ YRT6C

3. # YRT 6D




4. % YRI 6E
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Question Number : 121 Question Id : 92775911661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under the Labour Laws (Exemption from Furnishing Returns and Maintaining Registers by Certain Establishment) Act, 1988,a ‘small



establishment ’means number of persons employed in the range of
Options :

1. % more than 20

2.% 10to 19

3.% 5t0 10

4. % 100 to 200

Question Number : 121 Question Id : 92775911661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT ($S UASHI B Rex HRA TUT ISR §-1 ¥ Fe) TATH, 1988, & 3fcid "SIl U8 (small establishment)' BT 3
! O H e afadal & Se 9 gl

Options :

1. % 209 3D

2.4 10919

3.% 5910

4. % 1009 200

Question Number : 122 Question Id : 92775911662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many schedules are there in the Labour Laws (Exemption from Furnishing Returns and Maintaining Registers by Certain Establishment)
Act, 19887

Options :
1. ¥ Two
2. # Three
3. % Four
4. #® Five

Question Number : 122 Question Id : 92775911662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o BT (i ufas™l gR1 Red Sid s 3R IoRex @A 9 o) HfAfam, 1988, T fordit el 62
Options :

1. al

2. %

3. % 9R

4. % TOrg

Question Number : 123 Question Id : 92775911663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Labour Laws (Exemption from Furnishing Returns and Maintaining Registers by Certain Establishment) Act, 1988 deals
with the power to amend?

Options :

1. # Section 5
2. # Section 6
3. % Section 7

4, % Section 8

Question Number : 123 Question Id : 92775911663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i BT (M Ufas™T gRT Red Siad & 3R IfoRex Y@ ¥ Be) SHfAFTH, 1988, B HIF-UT YRT, I H1 fdd 4 A& fId g2
Options :
1. % YRT5
2. % YRT6
3. ¢ 4RT7
4. % YRS

Question Number : 124 Question Id : 92775911664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What shall be the maximum penalty to an employer in case of first conviction under the Labour Laws (Exemption from Furnishing Returns and



Maintaining Registers by Certain Establishment) Act, 1988?
Options :

1. ¥ 35,000

2. % 34,000

3. % 3,000

4. % 32,000

Question Number : 124 Question Id : 92775911664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

517 T (T wfasml gRT e afad & 8k IR 31 A Be) i, 1988 & sidla v uffe o fRufa o fonsh e &
forg srfermay faramt Seifr fReffa g2

Options :

1. ¥ 35,000

2. % 24,000

3. % 23,000

4. % 22,000

Question Number : 125 Question Id : 92775911665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following legislations does NOT come under the first schedule of the Labour Laws (Exemption from Furnishing Returns and
Maintaining Registers by Certain Establishment) Act, 19887

Options :

1. * Payment of Wages Act
2. % Minimum Wages Act
3. ¥ Maternity Benefit Act
4. % Weekly Holiday Act

Question Number : 125 Question Id : 92775911665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o @ ®F-3 faUT (legislations), 98 B (FTEd wfasmi gRT Re afad a3 3R IoReR 3@+ A go) Sififam, 1988 & Sfard
T L § g 31T

Options :

1. % Holgdl dar sifefam

2. % GAdH A MfafgH

3. ¥ OIgcd oY SHfefay

4. % Ilfgd fahrRl sfefaq

Question Number : 126 Question Id : 92775911666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case an employer fails to comply with the provisions of the Labour Laws (Exemption from Furnishing Returns and Maintaining Registers by
Certain Establishment) Act, 1988 in his second conviction, under this Act he may be liable to pay a penalty of

Options :

1. % 35,000 to 210,000
2. % 310,000 to 220,000
3. ¥ 310,000 to 325,000
4. % %15,000 to 225,000

Question Number : 126 Question Id : 92775911666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt fraYer gRT o A (Rfda ufasml gRT Re fae #A oIk oRex T q Be) ifafam, 1988 & UraTi &1 uTeH &34 H fawd
TE R gOR aR e H, 39 fIfaw & ofavid a8 IH DI SR Ghdl B &I U g ThdT g |

Options :

1. % 25,000 ¥ 210,000

2. % 210,000 ¥ 220,000

3. ¢ 210,000 ¥ 225,000

4. % 315,000 ¥ 225,000

Question Number : 127 Question Id : 92775911667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which year was the Code on Wages passed by the Parliament?
Options :

1. % 2015

2. % 2017

3.9 2019

4. % 2021

Question Number : 127 Question Id : 92775911667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I gRT Auigel Afed ®! fo o & uiia fasan mam um
Options :

1. % 2015

2. % 2017

3.9 2019

4. % 2021

Question Number : 128 Question Id : 92775911668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Acts does NOT come under the Code on Wages?
Options :

1. # Equal Remuneration Act

2. % Payment of Wages Act

3. % Employees Compensation Act

4. % Minimum Wages Act

Question Number : 128 Question Id : 92775911668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRaa & I oI a1 SfIfad, Aoigs! Jigar & Siavid Tl SMmar



Options :

1. % A URHHS ffafay

2. % AOGRAT &1 YT iy
3. ¢ HHART G3{Taer ifefad
4. % gAIH Horgd ATy

Question Number : 129 Question Id : 92775911669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The provisions related to maternity benefit come under which of the following codes?
Options :

1. ¥ Code on Social Security

2. % Code on Wages

3. # Industrial Relations Code

4. % QOccupational Safety, Health and Working Conditions Code

Question Number : 129 Question Id : 92775911669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT I Gaifta yraym, FafaRad & @ forg dfedr & siavfa smd 82
Options :

1. « AT gRe& Wigan

2. % Tolgl dfgdr

3. % 3N Jefy dfge

4. % TS YR&M, WA U9 D1 D1 g=My Afgan

Question Number : 130 Question Id : 92775911670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following sections of the Code on Social Security, 2020 deals with the appointment of Inspector-cum-Facilitators?
Options :



1. # Section 100
2. # Section 114
3. % Section 119
4. ¥ Section 122

Question Number : 130 Question Id : 92775911670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TR TR, 2020 B FafifEd § @ o1 I ury, e -ge-gfaurararsh & Fgfer & g&fid 22
Options :

1. % YRT 100

2. % YRT 114

3. % YRT119

4. ¥ YRT 122

Question Number : 131 Question Id : 92775911671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Occupational Safety, Health and Working Condition Code, 2020, the definition of wages does NOT include
Options :

1. # basic wages

2. ¥ house accommodation

3. # dearness allowance

4. # retaining allowance

Question Number : 131 Question Id : 92775911671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTITIS JR&fT, TR Td BT B G=IMY Afgdl 2020 o SfATd, ATGIRAT B TRUTST & BERERES

Options :

1. % o da-



2.« AHTH A
3. % IS Yl

4, % AYRUT HdT

Question Number : 132 Question Id : 92775911672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the definition of ‘child’ under the Child and Adolescent Labour (Prohibition and Regulation) Act, 1986?
Options :

1. % Person who has not completed 14 years of age

2. % Person who has not completed 15 years of age

3. % Person who has not completed 16 years of age

4. % Person who has not completed 18 years of age

Question Number : 132 Question Id : 92775911672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 3R fP R o7 (wfody wd Fraw) iffT, 1986 & Sfaiid a2 &t uRHTST § S 311aT 82
Options :

1. ¢ Hfad, fo 14 a9 3t Mg T 7 1 51

2. % fad, o 15 a0 BT S A A DT 71

3. % Hfad, oA 16 T BT s A A BT &Y

4. % fad, S 18 9 BT ST T A D1 Bl

Question Number : 133 Question Id : 92775911673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Child and Adolescent Labour (Prohibition and Regulation) Act, 1986 confers upon the Central Government the power to
constitute an advisory committee to be called ‘Technical Advisory Committee’?

Options :
1. ¥ Section 3
2. % Section 4



3. % Section 5

4, % Section 6

Question Number : 133 Question Id : 92775911673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1o 3R TR o7 (wfosy vd Fraw) iffRT, 1986 &1 o A 4RI, Hg TRBR B 'dh-id! IagdR Il AMHS Th JaATgHR JrHfd
BT TS DR B YT U BT 82

Options :

1. % YRT3
2. % YRT4
3.9 URTS
4. % YRT 6

Question Number : 134 Question Id : 92775911674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has the power to amend schedules under the Child and Adolescent Labour (Prohibition and Regulation) Act, 19867
Options :

1. # Local Government

2. ¥ Central Government

3. % State Government

4. % Appropriate Government

Question Number : 134 Question Id : 92775911674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed § @ 5, 1 iR freiR o9 (ufedy Td Faw) aififeam, 1986 & Sidvid ragfeai Sfid B &1 SfeR U 82
Options :

1. % QMY WHR

2. ¥ BHG WDHR



3. % Y DR
4. % 3UYdd WRDPR

Question Number : 135 Question Id : 92775911675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Child and Adolescent Labour (Prohibition and Regulation) Act, 1986, the Technical Advisory Committee must consist of a chairman
and such members NOT exceeding in number.

Options :
1.+ 10
2. % 15
3. % 20
4. % 25

Question Number : 135 Question Id : 92775911675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 3R for=iR o (wifady e g Siffam, 1986 & SR, dh-1h! TAeHR AHfd H Th e g SR T8 el &1 Sifidan
e 9 3ffeep 781 gIeft|

Options :

1.4 10

2. % 15

3. % 20

4. % 25

Question Number : 136 Question Id : 92775911676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of the Child and Adolescent Labour (Prohibition and Regulation) Act, 1986 do the provisions related to health and safety
come?

Options :

1. # Section 10



2. * Section 11
3. # Section 12
4. % Section 13

Question Number : 136 Question Id : 92775911676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R PR 47 fady Td ey sififam, 1986 31 g 4T & 3iafd, Ty 3R TRem ¥ et grae fow e 82
Options :

1. #* YRT 10

2. % YRT 11

3. % YRT 12

4. ¥ YRT 13

Question Number : 137 Question Id : 92775911677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following authorities has the power to implement the provision under Section 17A of the Child and Adolescent Labour (Prohibition
and Regulation) Act, 1986?

Options :

1. % Safety Officer

2. ¥ District Magistrate
3. % Welfare Officer

4. % Commissioner

Question Number : 137 Question Id : 92775911677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg w1 1a ok friR o1 (wfasy Td fRame) Siffam, 1986 B URT 17A & WG AR SR B! fad U 82
Options :

1. % R SHfUBRY

2. ¢ forer afoRde



3. % Hogmul HYBRY
4. % MY

Question Number : 138 Question Id : 92775911678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Industrial Disputes Act, 1947, it is necessary to constitute a works committee if an employer has more than workers.
Options :

1. % 50

2. %75

3.9 100

4. % 200

Question Number : 138 Question Id : 92775911678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁaﬁ%ﬁam&rﬁrﬁw, 1947 & SR, Tl Tl Frafter o Tgt Y 31fp HHARI § O Th SR &1 e+ forar S sifard
I

Options :

1. % 50

2. % 175

3.4 100

4. % 200

Question Number : 139 Question Id : 92775911679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many schedules are there in the Industrial Disputes Act, 19477
Options :

1. % Three

2. % Four

3. ¥ Five



4. % Six

Question Number : 139 Question Id : 92775911679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nt faare siffam, 1947 T frait o 62
Options :

1. % dF

2. % IR

3. ¥ Ul

T

Question Number : 140 Question Id : 92775911680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following implies ‘Court’ under The Industrial Disputes Act, 19477
Options :

1. % Labour Court

2. % Court of Enquiry

3. # Industrial Tribunal

4. % National Tribunal

Question Number : 140 Question Id : 92775911680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed # @ 3 1, shelfiie fdare Siftfam, 1947 3 Siavid Ue =amared g2
Options :

1. % Y gy

2. % Jadlsd Uy

3. % RN ey

4. % BT HfYBT



Discipline3

Group Number : 8

Group Id : 927759482

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 927759508

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759605

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 92775911681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following authorities does NOT come under Chapter II of the Industrial Disputes Act, 19477
Options :



1. # Conciliation Officer
2. % Board of Conciliation
3. % Labour Court

4. ¥ Advisory Board

Question Number : 141 Question Id : 92775911681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafrad & 9 oiF a1 i, shenfiie faare siftfam, 1947 % e 11 3 Siavid =gt omar 82
Options :

1. % FHYT SHTBRI

2. % HIYH §IS

3. % 4H IAreiy

4.« GABHR dIS

Question Number : 142 Question Id : 92775911682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does Chapter V of the Industrial Disputes Act, 1947 deal with?
Options :

1. # Penalties

2. ¥ Strike and lockout

3. # Retrenchment and lay off

4. ¥ Procedure, power and duties of authorities

Question Number : 142 Question Id : 92775911682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Menfires faare SififTd, 1947 &7 31T v fHa Tafdd g2
Options :

1. % SR



2. ¥ B3AId 3R dTaeel
3. % SOId (STT el 3R Bel
4. ® UIRTGY Pt ufehar, wfad iR dadoa

Question Number : 143 Question Id : 92775911683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chapter of the Industrial Disputes Act, 1947 deals with the provisions of lay-off and retrenchment?
Options :

1. ¥ Chapter VA

2. % Chapter VB

3. # Chapter VC

4. % Chapter VD

Question Number : 143 Question Id : 92775911683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TNt faarg iffTm, 1947 &1 61 1 31eaTg Sd (T Bl 3R Bedl b Uray! S Fafdd 82
Options :

1. ¢ AT VA

2. % A VB

3. % Y VC

4. % Y VD

Question Number : 144 Question Id : 92775911684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chapter of the Industrial Disputes Act, 1947deals with the provisions related to unfair labour practices?
Options :

1. # Chapter VA

2. # Chapter VB



3. % Chapter VC
4. ® Chapter VI

Question Number : 144 Question Id : 92775911684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SN faare Siffam, 1947 &1 S A1 3reamd 3fd o faftrt & w9 Tefid g2
Options :

1. % A VA

2. % 3 VB

3. ¥ FI VC

4. % Y VI

Question Number : 145 Question Id : 92775911685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Industrial Disputes Act, 1947, the Board of Conciliation consist of
Options :

1. ¥ a chairman and 2 or 4 other members

2. ® a chairman and 5 or 10 other members

3. # achairman and 3 or 6 other members

4. % 3 chairman and 4 or 6 other members

Question Number : 145 Question Id : 92775911685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3NN faare iffaH, 1947 & SicRid, T die | EEElEY
Options :

1. ¢ TS 3ehef 3R 2 T 4 30 Yo

2. % TP e 3R 597 10 3 G&I

3. % Udb 3{eh8f 3R 3 T 6 3 T



4. % U e 3R 476 3T G

Question Number : 146 Question Id : 92775911686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Industrial Disputes Act, 1947contains the definition of lay-off?
Options :

1. # Section 2 (000)

2. ¥ Section 2 (kkk)

3. % Section 2 (111)

4. # Section 2 (kk)

Question Number : 146 Question Id : 92775911686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MNfies faare Sffef=am, 1947 B fbd URT H Sl ot uRHTST &1 778 82
Options :

1. % YRT 2 (000)

2. % YRT 2 (kkk)

3. % YRT2 (111)

4. % YRI 2 (kk)

Question Number : 147 Question Id : 92775911687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which legislation are the provisions related to protected workman specified?
Options :

1. # Trade Union Act

2. % Industrial Employment (Standing Orders) Act

3. ¥ Maternity Benefit Act

4. ¥ Industrial Disputes Act



Question Number : 147 Question Id : 92775911687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R FTHIR § Tefdd Urae™ foeg S & sidvid Ay fee e g
Options :

1. ® ¢S g stfafras

2. % 3N o (Rl sren) sifdfoy

3. % T ATy STy

4. ¢ AR faare sififrm

Question Number : 148 Question Id : 92775911688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What shall be the penalty on the workman for illegal strike and lockout under the Industrial Disputes Act, 1947?
Options :

1. ¥ One month imprisonment or 50 or both

2. % Two months imprisonment or 50 or both

3. # One month imprisonment or T100 or both

4. ® Two months imprisonment or 2100 or both

Question Number : 148 Question Id : 92775911688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRSTL gadTd 3R daedl /g e faarg sifaifem, 1947 & Sfavfd SRR & o ford e-1f &1 wrae = ]
Options :

1. ¢ U HIE T BRI T 250 TT 1

2. % T HIE B HRIET I 250 T G

3. % TP HIE BT BRI 12100 TT I

4. % G AT BT BRI TT 2100 TT 1




Question Number : 149 Question Id : 92775911689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT included in the second schedule of the Industrial Disputes Act, 1947?

Options :

1. # The propriety or legality of an order passed by an employer under the standing orders

2. # The application and interpretation of standing orders

3. # Discharge or dismissal of workmen including re-instatement of, or grant of relief to, workmen wrongfully dismissed
4. ¥ Holidays and rest of Interval

Question Number : 149 Question Id : 92775911689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I &1 1, sienfie faare sifdfam, 1947 o1 fadta S & wnfiya 78 &2

Options :

1. % R 1SR & S, ot feiiaar gRT UiRd SGRT &1 SIBTREsar a1 dedT

2. % R} SR BT SVANT 3R RS

3. % HUIR! & BT 1 SR, Forad 7Ted dii ¥ SURd fhU T HHaR! &l QAHgad BT 31 8d UeH fdaT ST mid |
4. ¢ Ffceat, SR faym & &<

Question Number : 150 Question Id : 92775911690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Industrial Disputes Act, 1947, in which of the following cases is average pay NOT included?
Options :

1. # In the case of monthly paid workman, in the three complete calendar months

2. % In the case of weekly paid workman, in the four complete weeks

3. # In the case of daily paid workman, in the twelve full working days

4. ¥ In the case of hourly paid workers, in the nine full working hours

Question Number : 150 Question Id : 92775911690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

NI faare iffam, 1947 & Siceia fafaRad & 9 forg A & 3id da- =M 761 52
Options :

1. % TIR® aa- foU O a1d et & A #, i gof B Ag

2. % UIdlied da- faU SH alel HHAR! & AHd |, IR 01 9wrg d

3. % &% da- fQU STH aTe HHART & AT H, IRE 01 prifeay o

4. ¢ ST & YR R I T S aTel HHIRY & Joed 7, A1 ol B bl A

Question Number : 151 Question Id : 92775911691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the term ‘award’ mean under the Industrial Disputes Act,1947?
Options :

1. ¢ Interim or final determination of any industrial dispute

2. # Interim but not final determination of any industrial dispute

3. # Final but not interim determination of any industrial dispute

4. ® Neither interim nor final determination of any industrial dispute

Question Number : 151 Question Id : 92775911691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ienfie faare siffam, 1947 & Siavia = M (AT &1 3T 31 B2
Options :

1. ¢ Tt Sfenfies faare 1 siafm ar sifam o

2. % fordll SN faare o1 siafm MR dfe sifaw =gt

3. % ot SliefiTes faarg &1 sifom FefRor e siafva =gt

4. % fordlt Telfies faare o171 df ofafed =1 g1 sifaw feRom

Question Number : 152 Question Id : 92775911692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When did the Minimum Wages Act, 1948 come into force?
Options :

1. # 10th March

2. % 1st March

3. % 15th March

4. % 31st March

Question Number : 152 Question Id : 92775911692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GIH Aol SHfATIH, 1948 e A AN g3

Options :

1. % 109"
2. % 1 HY
3. ¢ 15HE
4. % 31 A

Question Number : 153 Question Id : 92775911693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the term ‘appropriate government’ mean in relation to any scheduled employment as defined in the Minimum Wages Act, 1948?
Options :

1. # The governing authority of the organisation

2. ¥ The Central government

3. % An autonomous body

4. # The federal government

Question Number : 153 Question Id : 92775911693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH Torgd! ST, 1948 T U forelt ST ISR & Waie Hf <3Ugad WMBHR” e o1 o1 31 g2

Options :



1. % T3 BT U] UIShRI
2. ¥ Hg WHR

3. % U Wiad e

4. % T WHR

Question Number : 154 Question Id : 92775911694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Minimum Wages Act, 1948, the first method used by the ‘appropriate government’ to fix minimum wages in respect of scheduled
employment is called method.

Options :

1. ¥ appointment of committee
2. % social

3. % government

4. # appropriate

Question Number : 154 Question Id : 92775911694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

éﬁ{ﬂﬂﬁqﬁ%&m 1948 & IR, I MR o TaH T FAaH Avig! 0 d3- & AT UG RBR” GRT e (A
FHEA B

Options :

1. ¢ GfHfd ol gl
2. % HHTRTh

3. % WNPR

4. % 3UYad

Question Number : 155 Question Id : 92775911695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following may the ‘appropriate government’ appoint as an authority to hear and decide cases related to the payment of wages under
Section 20 (1) of the Minimum Wages Act, 1948?



Options :

1. ¥ Any commissioner for workmen's compensation
2. % Employee of the firm

3. # Labour union

4. # CEO of the company

Question Number : 155 Question Id : 92775911695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH Torge! ST, 1948 BT URT 20 (1) & Sicid, TGl & T ST ATHE! &1 gaTs B SR fAufg w9 & forg fFafafad
I HH AT IS WABRT & U H g Sugad IWHR Eﬁchdlg

Options :

1. ¢ HHARI o G 5 BIs ATTHd
2. % HH HT HHAR]

3. % YU YHTA

4. % HUT BT WLE.3M. (CEO)

Question Number : 156 Question Id : 92775911696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fixation of minimum rates of wages is dealt with under which section of the Minimum Wages Act, 1948?
Options :

1. # Section 3(1)(b)

2. % Section 27

3. % Section 3(1)(a)

4. % Section 7

Question Number : 156 Question Id : 92775911696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH Helgd! &1 @ R, =gad Aot Sffam, 1948 Bt for 4T & 3fcia aftfa g2

Options :



1. % YRT3(1)(b)
2. % YRI27
3. ¢ YRT3(1)(a)
4. % YR17

Question Number : 157 Question Id : 92775911697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per section 3 Who is authorised to fix minimum wages under the Minimum Wages Act, 1948?
Options :

1. ¥ Appropriate Government

2. % Company

3. % Labour Organisation

4. ¥ Union

Question Number : 157 Question Id : 92775911697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATH HoTgR] SMATH, 1948 & S URT 3 & STAR, FATH Holge] MEUiRd B & oL I wifdiepd 82
Options :

1. ¥ JUGed WBR

2. % HUH!

3. % yH TG

4. % ¥Y

Question Number : 158 Question Id : 92775911698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Section 3(3) of the Minimum Wages Act, 1948 provides that different minimum rates of wages may be fixed for
Options :

1. # temporary workers



2. ¥ different classes of work in the same scheduled employment
3. % voluntary workers

4. * ynion labour

Question Number : 158 Question Id : 92775911698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH AoTgs) ST, 1948 BT URT3G) HOg U@y g fd o fore e =gaw Hergdt & i &1 o 9« € |
Options :

1. % SRR HHART

2. ¢ STYfAd AR o 9 it S 9fort

3. % Wfesd HHAR

4. % DT YA

Question Number : 159 Question Id : 92775911699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum number of working days an employee must have worked in an establishment to be eligible for bonus under the Payment of
Bonus Act, 1965?

Options :

1. # 60 days
2. ¥ 30 days
3. ® 50 days
4. ¥ 90 days

Question Number : 159 Question Id : 92775911699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S &1 YT AT, 1965 & Sl a9 @1 U & g, Tt Ufas™ & SHar! & <gdd feaq erdfeay d& S foedl g1
1eq?
Options :

1. % 60T




2. ¢ 30feT
3. % 50faT
4, % 90 feq

Question Number : 160 Question Id : 92775911700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Payment of Bonus Act, 1965, within how many months from the close of the accounting year should the bonus be paid?
Options :

1. # 1 month

2. % 2 months

3. % 12 months

4. ¥ 8 months

Question Number : 160 Question Id : 92775911700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S BT YA ATATH, 1965 & TR, a1 I8 TG § fha- A8 & HieR 9199 &1 YT foham ST anfge?

Options :

1. % 1 Hlg
2. % 2Hlg
3. % 12HIg
4. ¢ 8 HIg
Discipline4
Group Number : 9
Group Id : 927759483
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 927759509

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759606

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 92775911701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Payment of Bonus Act, 1965 deals with disputes regarding payment of bonus pending before any
authority?

Options :

1. # Section 21
2. ¥ Section 22
3. # Section 23
4. % Section 24

Question Number : 161 Question Id : 92775911701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S BT YA AT, 1965 B FafRad & 9 oF It 4R, foedt ideRt & Tyl dfad a9 & YiTae Seel [dare! 3 defed g2
Options :

1. % YRI21

2. ¢ YRI22

3. % YRT23

4. % YR 24

Question Number : 162 Question Id : 92775911702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which condition shall an employee be disqualified from receiving bonus under the Payment of Bonus Act, 1965?
Options :

1. ¥ Fraud

2. % Physically unfit

3. % Absence

4. # Accidental mishap

Question Number : 162 Question Id : 92775911702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o g2 o AR &1 S BT Y ATATH, 1965 & SidTid S99 T $HRA I U7 a1 S TehdT 82
Options :

1. ¢ graryst

2. % YRING ©U I uged

3. % ufyfd

4. % GHCAIGR 3TUG]

Question Number : 163 Question Id : 92775911703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per the Payment of Bonus Act, 1965, an accounting year lies between and




Options :

1. % 1st March; 31st April

2. % 1st April; 31st March

3. % st January; 31st December
4. ® 1st May; 1st April

Question Number : 163 Question Id : 92775911703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S BT YA HTAFTH, 1965 & SER, A@idH- a9 3R S AT BB
Options :

1. % 1 O, 31 30

2.+ 1 30; 31 U

3. % | SFaRT; 31 R

4. % 1 {1 30T

Question Number : 164 Question Id : 92775911704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Payment of Bonus Act, 1965 is applicable to every factory and to every other establishment where the numbers of workers are
Options :

1. # 50 or more

2. % less than 20

3. % 100 or more

4. % 20 or more

Question Number : 164 Question Id : 92775911704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S &1 YT SAFTH, 1965 TY TAS HRIAF IR TAH 30 WA WR AR §, gl HHaal &1 ge &l

Options :




1. % 50 77 3fqPH
2. % 209 HH

3. % 100 7 HfePH
4. ¢ 20 71 3APH

Question Number : 165 Question Id : 92775911705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum amount of bonus payable to an employee under the Payment of Bonus Act, 1965?
Options :

1. ¥ 8.33% of the salary earned during the accounting year or 2100, whichever is higher

2. # 8.63% of the salary earned during the accounting year or 2100, whichever is higher

3. % 8.73% of the salary earned during the accounting year or ¥100, whichever is higher

4. % 8.83% of the salary earned during the accounting year or 2100, whichever is higher

Question Number : 165 Question Id : 92775911705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt HraTY &1 9 BT YT M, 1965 & AT <g S99 B AdH S=RIRT fba-t gidt 82
Options :

|. ¢ AGThT aY &b SR AT I BT 8.33% AT 2100 H I S i 31 |

2. % B gY & SR 3Mfold Ia- BT 8.63% AT 2100 T T 5 ot 31fdw B

3. % ORI IY & SR AT da- BT 8.73% AT1100 T I 5 4 31feres |

4. % TRATH aY P SR 3fofd I T 8.83% AT 2100 H I S ot 31 &1

Question Number : 166 Question Id : 92775911706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The implementation of the Equal Remuneration Act, 1976 is done in how many levels?
Options :

1. ® Four



2. % Three
3.4 Two
4. % One

Question Number : 166 Question Id : 92775911706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uit SiffEH, 1976 &1 foraraas fovd= TRl & fvar g2
Options :

1. % dR

2. % dF

3./

4, % U

Question Number : 167 Question Id : 92775911707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Equal Remuneration Act, 1976 demands that the employer maintain registers and other documents in relation to the workers
employed by him in the prescribed manner?

Options :

1. ¥ Section 8
2. #% Section 9
3. % Section 10

4. % Section 11

Question Number : 167 Question Id : 92775911707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR i SfATH, 1976 Bt B AT URT, T§ SUET B! fob U gRT g HHamal & dae H fave, IRt iR 3
SIS &1 WawaTg fAfEY UHR I S

Options :

1. ¥ YRTS




2. % YRT9
3. % YRT 10
4. % YRT 11

Question Number : 168 Question Id : 92775911708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Equal Remuneration Act, 1976 defines the term ‘remuneration’?
Options :

1. % Section 4(g)

2. % Section 3(g)

3. ¥ Section 2(g)

4. % Section 5(g)

Question Number : 168 Question Id : 92775911708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TR SRR, 1976 B B AT URT TS Weg B TRHTRT Peft 32
Options :

1. # YRT4(g)

2. % YRT3(g)

3. YURT 2(g)

4. % YRT5(g)

Question Number : 169 Question Id : 92775911709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Equal Remuneration Act, 1976 defines ‘same work or work of a similar nature’?
Options :

1. ¥ Section 2(h)

2. % Section 2(i)



3. % Section 3(h)
4. % Section 3(i)

Question Number : 169 Question Id : 92775911709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g SfAfTH, 1976 Bt S A URT THH ST 91 THH UHTd & SR BT Uiy el 82
Options :

1. % YRT 2(h)

2. % YRT2(1)

3. % YRT 3(h)

4. % YRT 3(1)

Question Number : 170 Question Id : 92775911710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Parliament enacted the Equal Remuneration Act, 1976 under which article of the Constitution of India?
Options :

1. ¥ Article 39

2. % Article 40

3. % Article 41

4. % Article 42

Question Number : 170 Question Id : 92775911710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G A YR & AU & 69 srfwse & fdiid T uiRe i iffad, 1976 &1 @my foam

Options :




4. % 3G 42

Question Number : 171 Question Id : 92775911711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Equal Remuneration Act, 1976, promotions, training or transfer shall not make any discrimination against women EXCEPT:
Options :

1. ¥ if prohibited or restricted by any law

2. % on the grounds of physical fitness

3. # on the grounds of marital status

4. ® on the grounds of number of children

Question Number : 171 Question Id : 92775911711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A O ST, 1976 & Sidvia, TarAfaa, U160 a1 RIMIARUN H Aial HHATRA) § $is UeHTd el (b sia, fRam:
Options :

1. ¢ gfe fdl e gRT Ufaits a1 ufasferd gt

2. % YRING IuGdaar & YR W

3. # Qalfe® fUfY P SMYUR W

4. % S I G & YR TR

Question Number : 172 Question Id : 92775911712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Workmen’s Compensation Act (Act VIII of 1923) came into force from
Options :

1. # 1st May 1924

2. # 1st April 1924

3. ¥ Ist July 1924

4. % 1st June 1924



Question Number : 172 Question Id : 92775911712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHAR Gafaor ST (1923 ST RFTT Vi) S Argge|
Options :

1. % 173 1924

2. % 1 30d 1924

3. v 1 A8 1924

4, % 191924

Question Number : 173 Question Id : 92775911713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Section deals with the appointment of “Commissioner” under Employees’ Compensation Act, 1923?
Options :

1. # Section 10

2. ¥ Section 20

3. % Section 30

4. # Section 40

Question Number : 173 Question Id : 92775911713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUAR G3ATaon HAFTH, 1923 F Sfard forg o1 & e &1 Fgfad &1 qufF fasar man g?
Options :

1. #* YRT 10

2. % YRT 20

3. % YRT 30

4. % YRT 40



Question Number : 174 Question Id : 92775911714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Employee’s Compensation Act, 1923 are some of the occupational diseases, such as anthrax, poisoning by lead,
phosphorous or mercury, telegraphist's cramp, asbestosis and bagassosis, listed?

Options :

1. # Section 4
2. # Section 7
3. % Section 3
4. % Section 5

Question Number : 174 Question Id : 92775911714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIHAR GafaoT SMAfFTaH, 1923 B b URT & $© HTURATd I oY o TR, T, BIRGRY a1 IR gRT [AuTeRd, Seliunithee &1 o,
TR 3R SRR 1S Yefieg 82

Options :

1. # YRT4

2. % YRT7

3.9 YRT 3

4. % YRI5

Question Number : 175 Question Id : 92775911715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the period of limitation for an appeal under Section 30 of the Employee’s Compensation Act, 19237
Options :

1. % 15 days

2. # 20 days

3. # 30 days

4. ¥ 60 days



Question Number : 175 Question Id : 92775911715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BHART HIATTSIT SHTAFFH, 1923 B YRT 30 P favid e & forw srafer A fobai g2
Options :

1. % 15

2. % 20 f&A

3. % 30 fgA

4.+ 60 feA

Question Number : 176 Question Id : 92775911716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Employees’ State Insurance Act, 1948 come into force?
Options :

1. % 1st March 1948

2. % 19th April 1948

3. % 1st April 1948

4. % 1st May 1948

Question Number : 176 Question Id : 92775911716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHART AT ST RATIH, 1948 T AR G2
Options :

1. % 1 A 1948

2. ¥ 19 3(UT 1948

3. % 1 3(0d 1948

4. % 1 TS 1948

Question Number : 177 Question Id : 92775911717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Where among the following can the Employees’ State Insurance Act, 1948 NOT be applied?
Options :

1. # Road transport

2. % Cinemas

3. # Hotels

4. ¥ Mines

Question Number : 177 Question Id : 92775911717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHART Iy ST e, 1948 fAAfeRad # @ wgi a8l ganr
Options :

. * g5 URaeT

2. % Rymn

3. % gled

4. ¢ GaH

Question Number : 178 Question Id : 92775911718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘employee’ is defined under which section of the Employees’ State Insurance Act, 1948?
Options :

1. % Section 3(8)

2. % Section 2(8)

3. % Section 3(9)

4. ¥ Section 2(9)

Question Number : 178 Question Id : 92775911718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HHART I ST AW, 1948 B fHT YRT & Siq¥id “HHART” Weg P AU foram T g2
Options :

1. % YR 3(8)

2. % YRT2(8)

3. % YRT3(9)

4. ¢ YT 2(9)

Question Number : 179 Question Id : 92775911719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much medical bonus is paid to an insured woman or in respect of the wife of an insured person in case she does not avail hospital facilities
of the scheme for child delivery?

Options :
1. ¥ 35,000
2. % 3500
3. % 1,000
4. % 210,000

Question Number : 179 Question Id : 92775911719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diftra Afeen oI, a1 SHifd safed & udl &1 fhan Rifdrcie g S99 o1 YT a1 ST § afe 39® gRT §= & U4 8 SRydTd giaeT &
YT BT A1H -Tg1 ferdT Sifar?

Options :

1. ¥ 35,000

2. % 2500

3. % 21,000

4. % 210,000

Question Number : 180 Question Id : 92775911720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As per the Section 4 Who can appoint a chairman and a vice-chairman under the Employees’ State Insurance Act, 1948?
Options :

1. % Head of the Company/Factory

2. # Finance Minister

3. % Central Government

4. % State Government

Question Number : 180 Question Id : 92775911720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHART o ST AT, 1948 BT URT 4 F AT B U 37ede 3R U U DI (g HR Thal 62
Options :

1. % HU/DHREM BT T

2. % foa o
3. ¥ &g WBR
4, % A YXDPR
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775911721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much percentage of the basic wage, dearness allowance and retaining allowance of an employee is paid as a contribution by the employees
under the Employees’Provident Funds and Miscellaneous Provision Act, 19527

Options :
1. ®* 8%
2.9 10%
3. % 11%
4. % 13%

Question Number : 181 Question Id : 92775911721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHHART yfaw i SR fafay Traem™ sififFam 1952 & SidTfa HHaiRal gR1ATEH & ©U § $HIR! & Gd dad, He TS 4 3R S@aUR0T
) & fohd= Ufa=Id &1 YT e Sirar g2

Options :
1. ® 8%
2.9 10%
3. % 11%
4. % 13%




Question Number : 182 Question Id : 92775911722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Insurance fund’ means the deposit-linked insurance scheme framed under Section 2 of the Employees’ Provident Funds and Miscellaneous
Provision Act, 1952 established under

Options :

1. ¥ Section 6¢
2. # Section 5¢
3. % Section 4c

4. % Section 3¢

Question Number : 182 Question Id : 92775911722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@W&ﬁ,mﬁuﬁwﬁfﬁaﬁvﬁmmw&m, 1952 Bt & S YRT 2 & Sfarid R feuifore-feigs o
I

Options :

1. ¥ YRT 6¢

2. % YRT 5¢

3. % YR 4c

4. % YRT 3¢

Question Number : 183 Question Id : 92775911723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Employees’ Provident Funds and Miscellaneous Provision Act, 1952, the superannuation in relation to an employee who is the
member of the pension scheme, means attainment, by the said employee, of the age of

Options :

1. # 50 years
2. ¥ 58 years
3. ® 60 years



4. % 68 years

Question Number : 183 Question Id : 92775911723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHHART yfaw iy SR fafay uraem™ siftfam, 1952 & sidfa, foeh wrars &t siftraftfdr, Si U= aiemT &1 96w g, 3ad HHaR! gRI
DI 3T H U HI e g |

Options :

1. % 5099

2. 58qY

3. % 60y

4. % 689

Question Number : 184 Question Id : 92775911724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of the Employees’ Provident Funds and Miscellaneous Provision Act, 1952 was the Employees’Provident Fund Appellate
Tribunal constituted?

Options :

1. % Section 7D
2. # Section 6A
3. % Section 7C
4. % Section 6D

Question Number : 184 Question Id : 92775911724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHART HiTw fAfY 3R fAfdy uraem= fAfFmm, 1952 Pt ford 4RT & 3idvfa SHaRT Higsy fAfY srdiefia siftrewur &1 e+ fovar mam
Options :

1. % YRT 7D

2. % YRT6A

3. % YRT7C



4. % YRT 6D

Question Number : 185 Question Id : 92775911725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

which of the following schedule of the Employees’ Provident Funds and Miscellaneous Provision Act, 1952 specified list of industries?
Options :

1. ¥ Schedule 1

2. % Schedule 2

3. # Schedule 3

4. % schedule 4

Question Number : 185 Question Id : 92775911725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHaRT yass ARy 3R fafaey vraem sififom, 1952 31 e & @ o I g, 3 &) geit Ay a2
Options :

1. 3l |

2. % 32

3. % 3Tl 3

4, % 3Tl 4

Question Number : 186 Question Id : 92775911726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of contribution that is to say, the contribution as well as the employee's contribution in pursuance of any scheme and the

employer's contribution in pursuance of the insurance scheme comes under the Employees’ Provident Funds and Miscellaneous Provision Act,
1952.

Options :

1. ¥ employer’s

2. % labour union’s
3. % Industry’s



4. % ynion’s

Question Number : 186 Question Id : 92775911726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Bt UARTIRYT, for &1 AT BT AT &, U HHART BT ARTGH il ot TIoi1 & ST H g1 3R et &1 arTa ot
HHaRT yiass fAfer SR fafay uraem sifdfam, 1952 % sidfd e Ao & Srura # 81, giaT |

Options :

1. ¢ Tave
2. % YO GHTA
3. % IR

4. % g

Question Number : 187 Question Id : 92775911727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At minimum, how many years of contributory service are required for entitlement to pension as per the Employees’Provident Funds and
Miscellaneous Provision Act, 19527

Options :

1. # 5 years
2. % 10 years
3. # 20 years
4. % 25 years

Question Number : 187 Question Id : 92775911727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHAR Higsy A 3R fafdy vraem ififam, 1952 & siavia UxH ) usdT & fag, gAad fras af o siwrerdt Jar I3t 8T 3miférd g1
Options :

1. % 599

2.+ 1094

3.% 209y



4. % 25TY

Question Number : 188 Question Id : 92775911728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Payment of Gratuity Act, 1972 is applicable to establishment with:
Options :

1. # less than 10 workers

2. # less than 5 workers

3. ¥ 10 or more workers

4. % more than 5 and less than 10 workers

Question Number : 188 Question Id : 92775911728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=gt BT YA AT, 1972 59 TR & UfasH! R AF 8ldT 82
Options :

1. % 10 9 $H HUAR

2. % 54 HH HUAR

3. ¢ 10 1 3D HHARS

4. % 53 3D 3R 10 Y HH HHART

Question Number : 189 Question Id : 92775911729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuous service is defined in of the Payment of Gratuity Act, 1972.
Options :

1. #¥ Section 1A

2. % Section 2A

3. % Section 3A

4. % Section 4A



Question Number : 189 Question Id : 92775911729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U & YIaH AT, 1972 BT T FRAR Ja1 &1 aikvifd fosan g
Options :

1. % YRT1A

2. ¥ YRI2A

3. % URI3A

4. % YRT4A

Question Number : 190 Question Id : 92775911730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eligibility of gratuity under the Payment of Gratuity Act, 1972 is rendered after completing continuous services of years.
Options :

1. %2

2.% 10

3.¢¥°5

4. % 8

Question Number : 190 Question Id : 92775911730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UGl DT YA HAFTH, 1972 & fciid IS 1 U, Y Pt FARR a1 & TYTd U et 5 |
Options :

1. %2

2. %10

3.5

4, % 8



Question Number : 191 Question Id : 92775911731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gratuity shall be paid for how many days for one year of completed service, in case of non-seasonal employment under Payment of Gratuity Act,
19727

Options :

1. ® 5 days
2. % 10 days
3. % 15 days
4. % 20 days

Question Number : 191 Question Id : 92775911731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁwﬂﬁwﬁ@ﬁﬁ,ﬁqﬂmw&@ﬁm, 1972 % 3fid T ay &t gui Ja1 o o favam fa=1 &1 A=get &1 Yirae fosar siran
9

Options :

1. % 5feA

2. % 10feA

3. ¢ 151&A

4. % 20feq

Question Number : 192 Question Id : 92775911732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the responsibility of the employer to pay gratuity, under the Payment of Gratuity Act, 1972, within days from the date it became
payable.

Options :
1. ® 15
2.9 30
3. % 45
4. % 60



Question Number : 192 Question Id : 92775911732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UGt T YA HTAFTH, 1972 & 3fdid, I=ge <d gH &i fafy 4 f&T & SieR SHHT YA HRAT (et BT ald g |
Options :

1. % 15

2. ¥ 30

3. % 45

4. % 60

Question Number : 193 Question Id : 92775911733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who appoints an inspector as per Section 7A of the Payment of Gratuity Act, 19727
Options :

1. ¥ Local Government

2. % Central Government

3. % Appropriate Government

4. % State Government

Question Number : 193 Question Id : 92775911733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UGl BT YT AAFATH, 1972 B URT 74 & fqild PRl 3t Fgfad feads gRI &1 Sl 82
Options :

|, % QY WHR

2. % bg WHR

3. ¢ JUGed AR

4. % oY WHR




Question Number : 194 Question Id : 92775911734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Maternity Benefit Act, 1961 come into force?
Options :

1. % 1st April 1961

2. % 30th March 1961

3. % 10th May 1961

4. ¥ 12th December 1961

Question Number : 194 Question Id : 92775911734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT A1 AT, 1961 B J AN G U2
Options :

1. % 1 30d 1961

2. % 30 | 1961

3. % 10 1S 1961

4. ¢ 12 fST%R 1961

Question Number : 195 Question Id : 92775911735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of the Maternity Benefit Act, 1961 deals with the right to payment of maternity benefits?
Options :

1. % Section 4

2. % Section 5

3. ® Section 6

4. % Section 7

Question Number : 195 Question Id : 92775911735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ATg@ Ay AT, 1961 B B AT URT, A AT & YITTH & ISR F Faifdrd g2
Options :

1. #* YRT4

2. ¥ YRI5

3. % YRT6

4, % YRT7

Question Number : 196 Question Id : 92775911736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of the Maternity Benefit Act, 1961 is an inspector appointed?
Options :

1. * Section 2

2. ¥ Section 14

3. * Section 10

4. * Section 15

Question Number : 196 Question Id : 92775911736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT a1 ST, 1961 1 ford a1 & Siaifd e @t fFgfaa &t s 82
Options :

1. # YRT2

2. ¥ YRT 14

3. % YRT 10

4. % YRT 15

Question Number : 197 Question Id : 92775911737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



For which of the following legislations, no contribution is required for getting the benefit?
Options :

1. ¥ Employees State Insurance Act, 1948

2. % Employee Provident Fund, 1952

3. % Maternity Benefit Act, 1961

4. ¥ Payment of Gratuity Act, 1972

Question Number : 197 Question Id : 92775911737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford S & fore, A T A 8 IS TNTeH ST 3aférd et 82
Options :

1. % HHIRY I ST AT, 1948

2. % HUART Hfasg [l 1952

3. ¥ OIgcd oMY AT, 1961

4. % It BT YA SHATH, 1972

Question Number : 198 Question Id : 92775911738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The provision of maternity benefit is given in which article of the Constitution of India?
Options :

1. % Article 40

2. % Article 42

3. % Article 44

4. % Article 46

Question Number : 198 Question Id : 92775911738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Y b UG, HRd P Wi3e™ & g s Hfegmu &

Options :



1. % 3Jwa 40
2. ¥ TG 42
3. % TG 44
4. % 3TRG 46

Question Number : 199 Question Id : 92775911739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Maternity Benefit Act, 1961, how many nursing breaks can a mother get in the course of her daily work till 15 months of the age of her
child?

Options :

1. # 1 break
2. ¥ 2 breaks
3. % 3 breaks
4. # 4 breaks

Question Number : 199 Question Id : 92775911739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT AT, 1961 & Sfld, 3109 S BT 31 15 TG 81 S b Big AT 30 G B H fova- RIS ST fasm o Fabehl 82
Options :

1. % 1 faym

2. 2 faymH

3. % 3fayH

4. % 4faym

Question Number : 200 Question Id : 92775911740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The definition of ‘miscarriage’ is given under
within the period of

of the Maternity Benefit Act, 1961, which means expulsion of contents of pregnant uterus

Options :



1. # Section 2a; twenty-four weeks
2. # Section 2b; twenty-nine weeks
3. ¥ Section 2j; twenty-six weeks

4. % Section 2m; thirty-two weeks

Question Number : 200 Question Id : 92775911740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taforer &t afuTST, [T A IfIEH, 1961 Bt & 3iavia & TS 7, forept 3 mifenfa mHiR T IrEh @1 Bt A &
3R SfgsAu/AsB R A B

Options :

1. % YR 2q; AT JETE

2. % YRT 2b; 3TN T8

3. ¥ YRT2j; Bedl 1Y I8

4. % YR 2m; STIG A8



